

June 11, 2019

Los Angeles County **Board of Supervisors** 

> Hilda L. Solis First District

Mark Ridley-Thomas Second District

> Sheila Kuehl Third District

Janice Hahn Fourth District

Kathryn Barger Fifth District

Fred Leaf Interim Director, Health Agency

Christina R. Ghaly, M.D. Director, Department of Health Services

Jonathan E. Sherin, M.D, Ph.D. Director, Department of Mental Health

Barbara Ferrer, Ph.D., M.P.H., M.Ed. Director, Department of Public Health

313 N. Figueroa Street, Suite 531 Los Angeles, CA 90012

> Tel: (213) 288-8174 Fax: (213) 482-9760

"The mission of the Los Angeles County Health Agency is to improve health and wellness across Los Angeles County through effective, integrated, comprehensive, culturally appropriate services. programs, and policies that promote healthy people living in healthy communities."



ΔΙ)()ΡΙΙ BOARD OF SUPERVISORS COUNTY OF LOS ANGELES

27 June 11, 2019

CELIA ZAVALA EXECUTIVE OFFICER

The Honorable Board of Supervisors County of Los Angeles 383 Kenneth Hahn Hall of Administration 500 West Temple Street Los Angeles, CA 90012

Dear Supervisors:

# APPROVAL TO EXTEND TWO LABORATORY COURIER SERVICES AGREEMENTS WITH HEALTH CARE LOGISTIC MANAGEMENT, INC. **DBA ACCURATE COURIER SERVICES** (ALL SUPERVISORIAL DISTRICTS) (3 VOTES)

# SUBJECT

Request approval to amend two Laboratory Courier Services Agreements with Health Care Logistic Management, Inc. dba Accurate Courier Services for Department of Health Services and Department of Public Health to extend the term of each Agreement for the continued provision of Laboratory Courier Services.

# IT IS RECOMMENDED THAT THE BOARD:

- 1. Make a finding pursuant to Los Angeles County Code Section 2.121.420 that the continued provision of Laboratory Courier Services, as described herein, may continue to be performed more economically by an independent contractor.
- 2. Instruct the Chair to approve and execute Amendment No. 9 to Agreement Number 77653 for the Department of Health Services (DHS), with an estimated cost of \$809,152, and Amendment No. 9 to Agreement Number 77652 for the Department of Public Health (DPH), with an estimated cost of \$585,400, with Health Care

Logistic Management, Inc. dba Accurate Courier Services (Accurate) for the continued provision of Laboratory Courier Services, to extend the term of each Agreement for one (1) year until and through June 30, 2020, with an option to further extend the term on a month-to-month basis for up to six (6) months, to conduct a competitive solicitation.

3. Delegate authority to the Director of DHS and the Director of DPH, or their authorized designees, to (a) exercise the month-to-month extension options; (b) to amend the Agreements to add and/or change non-substantive terms and conditions, as well as terms and conditions required by your Board or the Chief Executive Office and/or to maintain compliance with applicable law; to add, delete or change DHS and DPH facilities and routes to meet critical patient care or departmental needs; and make necessary changes to the scope of services and pricing schedules, all subject to prior review and approval by County Counsel.

# PURPOSE/JUSTIFICATION OF RECOMMENDED ACTIONS

Approval of the first recommendation is necessary to comply with Los Angeles County Code Section 2.121.420. Contracting under Proposition A (Prop A) requirements has been determined to be cost-effective for the provision of Laboratory Courier Services by the Departments in accordance with the Auditor-Controller guidelines. Attachment I provides the cost analysis.

Approval of the second recommendation will allow the Chair to execute the respective Amendments with Accurate under Exhibits I and II, substantially similar to the attached, for the continued provision of Laboratory Courier Services. Each department will continue to administer and monitor its respective Agreement.

Approval of the third recommendation will allow the Director of DHS and Director of DPH, or their authorized designees, to exercise the month-to-month extension options and to amend the Agreements to add and/or change non-substantive terms and conditions as well as those required by the Board or the Chief Executive Office or to maintain compliance with applicable laws, make permitted changes to the scope of services, the routine route services, and pricing schedules.

Laboratory Courier Services are essential to County facilities, which require the transport of laboratory specimens, reports and supplies (e.g., specimen containers, x-ray films, medical records, etc.) to and from designated sites. A responsible courier service is required to provide the timely pick-up and delivery of laboratory items, with the assurance that items are transported under the appropriate transport conditions, guaranteeing specimen integrity and the security and confidentiality of all documents, laboratory reports, and medical records. Each Agreement includes a price schedule for routine and for non-routine services for specimens to be picked up on specific days and times and on an as-needed basis at designated clinics, hospitals and other locations for transportation to designated County laboratories for test processing.

The Honorable Board of Supervisors June 11, 2019 Page 3

DHS recognizes the importance of timely solicitations, particularly for mission-critical services such as Laboratory Courier. Ideally, DHS would have completed a competitive solicitation and now would be recommending the award of a new contract instead of a request for a term extension. During the last several years, DHS Contracts and Grants has been tasked with completing an unusually high volume of new contracting projects, including those in support of the Board's Homeless Initiatives, and these workload demands coincided with a large number of staff vacancies in DHS Contracts and Grants. That unit has averaged a staff vacancy factor of approximately 15%, making managing the contracting workload extremely difficult. As a result, several solicitations, such as Laboratory Courier, have been delayed.

# Implementation of Strategic Plan Goals

The recommended actions support Strategy II.2 "Support the Wellness of Our Communities" and III.3 "Pursue Operational Effectiveness, Fiscal Responsibility, and Accountability" of the County's Strategic Plan.

## FISCAL IMPACT/FINANCING

The total estimated cost of services to be provided during the extended term of both current agreements from July 1, 2019 through June 30, 2020 is \$1,394,552, which includes DHS' estimated cost of \$809,152 (\$652,849 routine services + \$156,303 non-routine services) and DPH's estimated cost of \$585,400 (\$497,452 routine services + \$87,948 non-routine services).

Funding is included in DHS and DPH Fiscal Year 2019-20 Recommended Budgets and will be requested in future fiscal years, as necessary.

# FACTS AND PROVISIONS/LEGAL REQUIREMENTS

The Laboratory Courier Services Agreements are Proposition A Agreements and are subject to the requirements of the County's Living Wage Program (Los Angeles County Code Chapter 2.201). The contractor is in compliance with the Living Wage Program.

The County may terminate the Agreements for convenience upon ten (10) days prior written notice.

County Counsel has approved Exhibits I and II as to form.

# CONTRACTING PROCESS

This is a request to extend Agreements awarded as a result of a competitive solicitation to provide DHS with the additional time necessary to conduct another competitive solicitation and return to the Board with a recommendation for award.

The Honorable Board of Supervisors June 11, 2019 Page 4

# **IMPACT ON CURRENT SERVICES (OR PROJECTS)**

There is no current program services or employee impact as a result of these amendments as services are currently contracted.

Approval of the recommendations will ensure the continued provisions of Laboratory Courier Services for DHS and DPH.

Respectfully submitted,

Falt

Fred Leaf, Interim Director, Health Agency

FL:ylm

Enclosures (3)

c: Chief Executive Office County Counsel Executive Office, Board of Supervisors

	HEALTH AGENCY											
CO	COST ANALYSES SUMMARY - JULY 1, 2019 - JUNE 30, 2020											
LAB	LABORATORY COURIER SERVICES WITH ACCURATE COURIER											
	Contractor County Savings											
	Cost Cost \$ %											
Department of												
Health Services	\$ 652,849.23	\$ 837,330.14	\$ 184,480.91	22.03%								
Department of Public		<b>(</b> 040 400 00	¢ 040 700 70	40 700/								
Health	\$ 497,452.12	\$ 840,190.82	\$ 342,738.70	40.79%								
			\$ -									
			T									
			\$-									
			\$-									
			φ -									
	\$1,150,301.35	\$ 1,677,520.96	\$ 527,219.61									

Agreement No. 77652

# AGREEMENT BY AND BETWEEN COUNTY OF LOS ANGELES AND HEALTH CARE LOGISTIC MANAGEMENT, INC., DBA ACCURATE COURIER SERVICES FOR DEPARTMENT OF PUBLIC HEALTH LABORATORY COURIER SERVICES

### Amendment No. 9

THIS AMENDMENT is made and entered into this \_\_\_\_\_\_\_ day of

JUNE, 2019,

by and between

COUNTY OF LOS ANGELES (hereafter "County"),

and

HEALTH CARE LOGISTIC MANAGEMENT, INC., DBA ACCURATE COURIER SERVICES (hereafter "Contractor")

WHEREAS, reference is made to that certain document entitled "AGREEMENT BETWEEN COUNTY OF LOS ANGELES AND ACCURATE COURIER SERVICES, INC. FOR DEPARTMENT OF PUBLIC HEALTH LABORATORY COURIER SERVICES," dated September 6, 2011, and further identified as Agreement No. 77652, and any amendments thereto (all hereafter referred to as "Agreement" or "Contract"); and

WHEREAS, it is the intent of the parties hereto to amend the Agreement to extend the term from July 1, 2019 through June 30, 2020, with an option to further extend the term on a month to month basis for no more than six (6) additional months, and to provide for the other changes set forth herein; and

WHEREAS, Agreement provides that changes in accordance to Paragraph 8.1, AMENDMENTS, may be made in the form of an amendment which is formally approved and executed by the parties; and

WHEREAS, Contractor warrants that it possesses the competence, expertise, and personnel necessary to provide services consistent with the requirements of this Agreement and consistent with the professional standard of care for these services.

NOW, THEREFORE, the parties hereto agree as follows:

1. This Amendment shall be effective July 1, 2019.

2. Paragraph 4.0, TERM OF CONTRACT, shall be deleted in its entirety and replaced as follows:

### "4.0. TERM OF AGREEMENT:

4.1 The term of this Agreement shall commence on October 1, 2011 and shall expire on June 30, 2020, after execution by the County's Board of Supervisors, unless sooner terminated or extended, in whole or in part, as provided in this Agreement.

4.2 The County shall have the sole option to extend this Agreement term on a month-to-month basis for a period of up to six months through December 31, 2020. Such option extension shall be exercised at the sole discretion of the Director of DPH or his/her designee as authorized by the Board of Supervisors in accordance with Sub-paragraph 8.1 – Amendments. 4.3 The County maintains databases that track/monitor Contractor performance history. Information entered into such databases may be used for a variety of purposes, including determining whether the County will exercise an Agreement term extension option.

4.4 The Contractor shall notify DPH when this Agreement is within six (6) months from the expiration of the term as provided for hereinabove. Upon occurrence of this event, the Contractor shall send written notification to the DPH at the address herein provided in Exhibit E-3 – County's Administration."

3. Exhibit B1-4, PRICE SHEET ROUTINE ROUTE SERVICES, shall be deleted in its entirety and replaced by Exhibit B1-5, attached hereto and incorporated herein by reference. Any and all references to Exhibit B1-4 throughout the Agreement shall be referenced as Exhibit B1-5.

4. Exhibit B2-3, PRICE SHEET NON-ROUTINE SERVICES, shall be deleted in its entirety and replaced by Exhibit B2-4, attached hereto and incorporated herein by reference. Any and all references to Exhibit B2-3 throughout the Agreement shall be referenced as Exhibit B2-4.

5. Exhibit E-2, COUNTY'S ADMINISTRATION, shall be deleted in its entirety and replaced by Exhibit E-3, attached hereto and incorporated herein by reference. Any and all references to Exhibit E-2 throughout the Agreement shall be referenced as Exhibit E-3.

6. Technical Exhibit 3-2, ROUTE SCHEDULE, shall be deleted in its entirety and replaced with Technical Exhibit 3-3, attached hereto and incorporated herein by

reference. Any and all references to Technical Exhibit 3-2 throughout the Agreement shall be referenced as Technical Exhibit 3-3.

7. Except for the changes set forth hereinabove, Agreement shall not be changed in any respect by this Amendment.

/ / / / / IN WITNESS WHEREOF, the Board of Supervisors of the County of Los Angeles has caused this Amendment to be executed by the County's Director of Public Health and Contractor has caused this Amendment to be executed in its behalf by its duly authorized officer, the day, month, and year first above written.

5

S

2 Supplement No. 2

COUNTY OF LOS ANGELES ARD OF SUPERVISO 2 JUN 1 1 2019 air, Board of Supervisors PRO TEM Health Care Logistic Management, Inc., dba Accurate Courier Services EXECUTIVE OFFICER Contractor Signature ODED HAD, Printed Name CED Title \_ (AFFIX CORPORATE SEAL) ATTEST: CELIA ZAVALA Acting Executive Officer hereby centify that pursuant to Clerk of the Board of Supervisors Section 25103 of the Government Code, delivery of this document has been made. Bv CELIA ZAVALA Executive Officer Clerk of the Board of Supervisors APPROVED AS TO FORM BY THE OFFICE OF THE COUNTY COUNSEL MARY C. WICKHAM Deputy **County Counsel** By Deput unty Counsel Agreement 77652-9 Page 5

	LOS ANGELES COUN DEPARTMENT OF PUBLIC										
PRICE SHEET ROUTINE ROUTE SERVICES All Inclusive Fixed Fee Per Stop											
Estimated Number of Stops Per Month* All Inclusive Fixed Fee Pe Stop**											
ORIGINAL TERM 10/01/11 – 09/30/16	<u>2,031</u>	<u>\$12.37</u>									
AMENDMENT NO. 2 07/01/15 – 09/30/16	<u>2,031</u>	<u>\$12.15</u>									
AMENDMENT NO. 3	<u>2,031</u>	<u>\$11.99</u>									
AMENDMENT NO. 4	<u>2,031</u>	<u>\$11.85</u>									
AMENDMENT NO. 5	<u>2,114</u>	<u>\$14.67</u>									
<b>AMENDMENT NO. 5</b> 01/01/17 – 3/31/17	<u>2,117</u>	<u>\$15.54</u>									
AMENDMENT NO. 6 01/01/17 – 12/31/17	<u>2,117</u>	<u>\$15.54</u>									
AMENDMENT NO. 6 01/01/18 – 3/31/18	<u>2,118</u>	<u>\$16.20</u>									
AMENDMENT NO. 7 04/01/18 – 12/31/18	<u>2,081</u>	<u>\$21.74</u>									
AMENDMENT NO. 8 01/01/19 – 06/30/19	2,322	<u>\$22.55</u>									

AMENDMENT NO. 9		
07/01/19 – 12/31/19	<u>1,790</u>	<u>\$23.16</u>
01/01/20 - 6/30/20***	<u>1,790</u>	<u>\$23.16</u>

\*Estimated number of stops; actual number may vary due to the addition/deletion of stops.

\*\*All cost associated with the Proposer's provision of Routine Route Services is included in the All-Inclusive Fixed Fee Per Stop".

\*\*\*The routine route services all-inclusive fixed fee per stop will include a Living Wage rate adjustment based on the U.S. Department of Labor, Bureau of Labor Statistics' Consumer Price Index (CPI) effective January 1, 2020.

# LOS ANGELES COUNTY DEPARTMENT OF HEALTH SERVICES

# PRICE SHEET NON-ROUTINE SERVICES All Inclusive Charge Per Mile

	AS NEEDED	AS NEEDED	ON-	CALL		AT period		RSTAT r period
	Mon. – Thu. (after 6 pm)	Weekends (Fri. 6 pm – Mon. 6 am)	Mon. – Thu. (after 6pm)	Weekends (Fri. 6pm – Mon. 6am)	Mon. – Thu. (after 6pm)	Weekends (Fri. 6pm – Mon. 6am),	Mon. – Thu. (after 6pm)	Weekends (Fri. 6pm – Mon. 6am),
	Mon. – Fri. (6am – 6pm)	Holidays (24 hr.)	Mon. – Fri. (6am-6pm)	Holidays (24 hr.)	Mon. – Fri. (6am-6pm)	Holidays (24 hr.)	Mon. – Fri. (6am-6pm)	Holidays (24 hr.)
<u>ORIGINAL TERM</u> 10/01/11 – 09/30/16	\$1.70	\$3.08	\$1.70	\$3.08	\$2.05	\$3.08	\$2.55	\$3.08
<u>AMENDMENT NO. 2</u> 07/01/15 – 09/30/16	\$1.66	\$3.04	\$1.66	\$3.04	\$2.01	\$3.04	\$2.51	\$3.04
AMENDMENT NO. 3 10/01/15 – 9/30/16	\$1.63	\$3.01	\$1.63	\$3.01	\$1.98	\$3.01	\$2.45	\$3.01
<u>AMENDMENT NO. 4</u> 01/01/16 – 09/30/16	\$1.60	\$2.98	\$1.60	\$2.98	\$1.95	\$2.98	\$2.42	\$2.98
AMENDMENT NO. 5 10/01/16 – 3/31/18	\$1.60	\$2.98	\$1.60	\$2.98	\$1.95	\$2.98	\$2.42	\$2.98
<u>AMENDMENT NO.7</u> 04/01/18 – 12/31/18	\$1.76	\$3.28	\$1.76	\$3.28	\$2.15	\$3.28	\$2.66	\$3.28
<u>AMENDMENT NO.8</u> 01/01/19 – 06/30/19	\$1.76	\$3.28	\$1.76	\$3.28	\$2.15	\$3.28	\$2.66	\$3.28
AMENDMENT NO.9	\$1.81	\$3.37	\$1.81	\$3.37	\$2.21	\$3.37	N/A	N/A
07/01/19 - 12/30/19 01/01/20 - 6/30/20*	\$1.81	\$3.37	\$1.81	\$3.37	\$2.21	\$3.37	N/A	N/A

\*The non-routine services all-inclusive charge per mile will include a Living Wage rate adjustment based on the U.S. Department of Labor, Bureau of Labor Statistics' Consumer Price Index (CPI) effective January 1, 2020.

# **COUNTY'S ADMINISTRATION - DPH**

# HEALTH CARE LOGISTICS MANAGEMENT, INC. DBA ACCURATE COURIER SERVICES

# CONTRACT NO. 77652-9

County Project Director (Facility CEO)	County Project Manager	County Project Monitor	Billing Address
Public Health Laboratory 12750 Erickson Avenue Downey, CA 90242 Nicole Green	William Chen Tel: 562-658-1461 Fax: 562-401-5985 <u>wchen@ph.lacounty.gov</u>	Maria Sanchez Tel: 562-658-1301 Fax: 562-401-5999 marsanchez@ph.lacounty.gov Site Contact: Lynda Rivas Tel: 562-658-1341 LRivas@ph.lacounty.gov	Financial Management 5555 Ferguson Dr. Suite 100-50 Commerce, CA 90022 Attn: Razak Ayoola
Clinic Services 241 N. Figueroa Street, Room 312 Los Angeles, CA 90012 Gema Morales-Meyer, RN	Maxine Liggins, MD Tel: 213-288-7142 Fax: 213-250-8755 mliggins@ph.lacounty.gov	Lori Yasuda Tel: 213-288-7890 Imyasuda@ph.lacounty.gov Site Contacts: Pharmacy Daniel Hancz Tel: 213-288-8616 dhancz@ph.lacounty.gov Clinic Services Administration Gary Reyes Tel: 213-288-8599 gareyes@ph.lacounty.gov	Financial Management 5555 Ferguson Dr. Suite 100-50 Commerce, CA 90022 Attn: Razak Ayoola

					Days per Week	Weeks per Year	Annual Stop Number	Annual Stop Number Deducting Holidays and No Pick-Up	Route Description
AREA 1							3380	1984	
8:30	Monday to Friday	Pomona Health Center	750 S. Park Ave., R-106 & R-113	Pomona 91766	5	52	260	248	P/U Specimen to PHL
9:05	Monday to Friday	Monrovia Health Center	330 W. Maple Ave., Lab#17, STD#17D, X-Ray Rm	Monrovia 91016	5	52	260	248	P/U Specimen to PHL
9:40	Monday to Friday	Pasadena Public Health Lab	1845 N. Fairoaks Ave.	Pasadena 91103	5	52	260	248	P/U Specimen to PHL, Deliver Envelopes, Boxes and Supplies as needed
10:05	Monday to Friday	Glendale Health Center	501 N. Glendale Ave., R-115, R-118 & R-119	Glendale 91206	5	52	260	248	P/U Specimen to PHL, Deliver Envelopes, Exchange X-Rays
10:35	Monday to Friday	Central Juvenile Court	1605 Eastlake Ave.	Los Angeles 90033	5	52	260	0	P/U Specimen to PHL
11:15	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver All Specimens, P/U X-Rays, Envelopes, Specimens & Supplies for Route
13:15	Monday to Friday	San Fernando Valley Juvenile Court	16350 Filibert St.	Sylmar 91342	5	52	260	0	P/U Specimen to CJH, Deliver Mail & Supplies
13:45	Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	5	52	260	0	P/U Specimen to PHL & LAC
14:05	Monday to Friday	Pacoima Health Center	13300 Van Nuys Blvd.	Pacoima 91331	5	52	260	248	P/U Specimen to PHL, P/U X-Rays
14:20	Monday to Friday	Glendale Health Center	501 N. Glendale Ave., R-115, R-118 & R-119	Glendale 91206	5	52	260	248	P/U Specimen to PHL, Deliver Envelopes, Deliver / P/U X-Rays.
14:55	Monday to Friday	Central Juvenile Hall	1605 Eastlake Ave.	Los Angeles 90033	5	52	260	0	P/U Specimen to PHL, Service Exchange / Deliver Specimen
15:25	Monday to Friday	LAC+USC Medical Center	1200 N. State St., #2C433	Los Angeles 90033	5	52	260	0	P/U Specimen to PHL, Service Exchange / Deliver Specimen
16:10	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver All Specimens, P/U X-Rays, Envelopes, Specimens & Supplies for Route
AREA 2							3380	3224	
8:30	Monday to Friday	Hollywood-Wilshire Health Center	5205 Melrose Ave.	Los Angeles 90038	5	52	260	248	P/U Specimen to PHL
9:10	Monday to Friday	Ruth Temple Health Center	3834 S. Western Ave.	Los Angeles 90062	5	52	260	248	P/U Specimen to PHL
9:45	Monday to Friday	Curtis Tucker Health Center	123 W. Manchester Blvd.	Inglewood 90301	5	52	260	248	P/U Specimen to PHL
10:15	Monday to Friday	Torrance Health Center	711 W. Del Amo Blvd.	Torrance 90502	5	52	260	248	P/U Specimen to PHL
10:50	Monday to Friday	MLK Center For Public Health Clinic	11833 W. Wilmington Ave., R-1609, R-1730, R-1280, R-1202	Los Angeles 90222	5	52	260	248	P/U Specimen to PHL
11:20	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver All Specimens, P/U X-Rays, Envelopes, Specimens & Supplies for Route
12:55	Monday to Friday	Torrance Health Center	711 W. Del Amo Blvd.	Torrance 90502	5	52	260	248	P/U Specimen to PHL
13:25	Monday to Friday	Curtis Tucker Health Center	123 W. Manchester Blvd.	Inglewood 90301	5	52	260	248	P/U Specimen to PHL
13:50	Monday to Friday	Ruth Temple Health Center	3834 S. Western Ave.	Los Angeles 90062	5	52	260	248	P/U Specimen to PHL
14:15	Monday to Friday	Hollywood-Wilshire Health Center	5205 Melrose Ave.	Los Angeles 90038	5	52	260	248	P/U Specimen to PHL
15:00	Monday to Friday	Central Health Center	241 N. Figueroa St., 1FL MR, 2FL LAB & R-240	Los Angeles 90012	5	52	260	248	P/U Specimen to PHL
15:20	Monday to Friday	Twin Towers C.F. (Towers I & II)	450 & 550 Bauchet St.	Los Angeles 90012	5	52	260	248	P/U Specimen to PHL
16:00	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver All Specimens
AREA 3							3692	3536	

٦

					Days per Week	Weeks per Year	Annual Stop Number	Annual Stop Number Deducting Holidays and No Pick-Up	Route Description
8:00	Monday, Thursday only	Central Health Center - Pharmacy	241 N. Figueroa St.	Los Angeles 90012	2	52	104	95	P/U Medicine for PH
8:30	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver Medicine boxes, P/U X-Rays, Envelopes, Specimens & Supplies for Route
9:30	Thursday, Friday	El Proyecto Del Barrio	9140 Van Nuys Blvd.	Panorama City 91402	2	52	104	101	P/U Specimen to PHL
10:00	Tuesday to Friday	Valley Community Clinic	6801 Coldwater Canyon Ave., R-2A & R-1007	North Hollywood 91605	4	52	208	203	P/U Specimen to PHL
10:40	Monday to Friday	A.H.F. Valley Healthcare Center	4 <del>835</del> 4940 Van Nuys Blvd.	Sherman Oaks 91403	5	52	260	248	P/U Specimen to PHL
11:00	Monday to Friday	Tarzana Treatment Center	7101 Baird Ave.	Reseda 91335	5	52	260	248	P/U Specimen to PHL
11:30	Tuesday, Friday	Quest Lab West Hills	8401 Fallbrook Ave.	West Hills 91304	2	52	104	102	P/U Specimen to PHL
12:10	Monday to Friday	A.H.F. Aids Health Care	1710 N. La Brea Ave.	Los Angeles 90046	5	52	260	248	P/U Specimen to PHL
12:20	Monday to Friday	Los Angeles LGBT Center	1625 Schrader Blvd. 304-307	Los Angeles 90028	5	52	260	248	P/U Specimen to PHL
13:00	Monday to Friday	AHF Wellness	1811 N. Western Ave.	Los Angeles 90027	5	52	260	248	P/U Specimen to PHL
13:15	Tuesday to Friday	Childrens Hospital	5000 Sunset Blvd., 434 B	Los Angeles 90027	4	52	208	203	P/U Specimen to PHL
13:30	Tuesday, Friday	Childrens Hospital (Micro)	4650 W. Sunset Blvd	Los Angeles 90027	2	52	104	102	P/U Specimen to PHL
13:30	Monday to Friday	Childrens Hospital Division of Research Children, Youth and Families	4650 W. Sunset Blvd. – Clinical Trials Unit, Room D1-282 / 4	Los Angeles 90027	5	52	260	248	P/U Specimen to PHL
13:45	Monday to Friday	AHF	1300 N. Vermont Ave, Doctors Tower R- 407	Los Angeles 90027	5	52	260	248	P/U Specimen to PHL
14:30	Monday to Friday	JWCH Weingart	522 S. San Pedro St.	Los Angeles 90013	5	52	260	248	P/U Specimen to PHL
14:30	Monday to Friday	Central HC Satellite Clinic 131B	522 S. San Pedro St.	Los Angeles 90013	5	52	260	250	P/U Specimen to PHL
15:00	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver All Specimens
AREA 4							4160	3828	
8:00	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	P/U X-Rays, Envelopes, Specimens & Supplies for Route
8:30	Monday, Wednesday, Friday	Flex Baths	4424 Melrose Ave.	Los Angeles 90029	3	52	156	147	P/U Specimen to PHL
<del>9:00</del>	<del>Monday, Wednesday, Friday</del>	<del>Klyt Baths</del>	<del>132 E. 4th St</del>	<del>Los Angeles 90013</del>	æ	<del>52</del>	<del>156</del>	<del>Q</del>	<del>P/U Specimen to PHL</del>
9:15	Tuesday to Friday	Josua House Health Care	311 Winston St.	Los Angeles 90013	4	52	208	203	P/U Specimen to PHL
9:30	Monday, Wednesday, Friday	Midtowne Spa	615 Kohler St.	Los Angeles 90021	3	52	156	147	P/U Specimen to PHL
9:45	Tuesday to Friday	Pico Aliso Health Care	1625 E. 4th St.	Los Angeles 90033	4	52	208	203	P/U Specimen to PHL
9:55	Monday to Friday	AltaMed - Whittier	5427 Whittier Blvd.	Los Angeles 90022	5	52	260	248	P/U Specimen to PHL
10:30	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver All Specimens, P/U X-Rays, Envelopes, Specimens & Supplies for Route
10:45	Monday, Wednesday, Friday	AltaMed - <del>Slauson</del> Pico Rivera	<del>9436 Slauson Ave.</del> 6336 Passon Blvd.	Pico Rivera 90660	3	52	156	147	P/U Specimen to PHL
11:00	Monday to Friday	Whittier Health Center	7643 S. Painter Ave., R-227 Lab & Mailroom	Whittier 90602	5	52	260	248	P/U Specimen to PHL, Deliver X-Rays to Mail Room
11:15	Wednesday	A.H.F Whittier Healthcare Center	9200 Colima Rd.	Whittier 90603	1	52	52	51	P/U Specimen to PHL

					Days per Week	Weeks per Year	Annual Stop Number	Annual Stop Number Deducting Holidays and No Pick-Up	Route Description
12:15	Wednesday, Thursday	East Valley Clinic Covina	420 S. Glendora Ave.	West Covina 91790	2	52	104	101	P/U Specimen to PHL
12:35	Monday to Friday	Cal Poly Pomona	3801 W. Temple Ave., Bldg 46 R-142	Pomona 91678	5	52	260	248	P/U Specimen to PHL
12:50	Monday to Friday	East Valley Clinic Pomona	1555 S. Garey Ave.	Pomona 91768	5	52	260	248	P/U Specimen to PHL, Deliver X-Rays, Envelopes, Boxes
13:00	Monday to Friday	Pomona Health Center	750 S. Park Ave., R-106 & R-113	Pomona 91766	5	52	260	248	P/U Specimen to PHL
13:30	Monday to Friday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731	5	52	260	248	P/U Specimen to PHL
13:40	Tuesday, Thursday	AltaMed El Monte	10418 E. Valley Blvd.	El Monte 91731	2	52	104	101	P/U Specimen to PHL
14:00	Monday to Friday	Monrovia Health Center	330 W. Maple Ave., Lab#17, STD#17D, X-Ray Rm	Monrovia 91016	5	52	260	248	P/U Specimen to PHL, Exchange X-Rays
14:30	Monday to Friday	Glendale Satellite - Burbank	101 S. 1st St.	Burbank 91502	5	52	260	248	P/U Specimen to PHL, P/U Time may vary from 1:00 PM - 3:00 PM
16:00	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver All Specimens
AREA 5							4056	3129	
8:25	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St., R-2S3 & 2S4 Lab	Torrance 90502	5	52	260	0	P/U Specimen to PHL
9:00	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver All Specimens, P/U All Supplies for Route
9:30	Monday to Friday	Long Beach Health Center	1333 Chestnut Ave.	Long Beach 90813	5	52	260	248	2nd FI Lab Delivery & P/U Specimen to Harbor
9:55	Monday, Wednesday, Friday	The Club 1350	510 W. Anaheim St.	Wilmington 90744	3	52	156	147	P/U Specimen to PHL
10:15	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St., R-2S3 & 2S4 Lab	Torrance 90502	5	52	260	0	Deliver Specimen from Long Beach
10:50	Thursday	Criminal Justice Center	210 W. Temple St.	Los Angeles 90012	1	52	52	50	P/U Specimen to PHL
11:10	Monday to Friday	A.H.F. Downtown	1400 S. Grand Ave.	Los Angeles 90015	5	52	260	248	P/U Specimen to PHL
11:25	Monday to Friday	OAPP Site	600 S. Commonwealth Ave, R-1920	Los Angeles 90005	5	52	260	248	P/U Specimen to PHL
11:45	Wednesday	Matrix Clinic	5220 W. Washington Blvd.	Los Angeles 90018	1	52	52	51	P/U Specimen to PHL
12:00	Monday to Friday	APLA Clinic	3743 S. La Brea Ave.	Los Angeles 90016	5	52	260	248	P/U Specimen to PHL
12:15	Monday, Wednesday, Friday	T.H.E. Clinic	3834 S. Western Ave.	Los Angeles 90062	3	52	156	147	P/U Specimen to PHL
13:10	Tuesday	Carl Bean	2146 W. Adams Blvd.	Los Angeles 90018	1	52	52	51	P/U Specimen to PHL
13:30	Tuesday to Friday	Watts Health Care	10300 Compton Ave.	Los Angeles 90002	4	52	208	203	P/U Specimen to PHL
13:50	Monday to Friday	MLK Oasis 1	1807 E. 120th St.	Los Angeles 90059	5	52	260	248	P/U Specimen to PHL
14:05	Monday to Friday	MLK Center For Public Health Clinic	11833 W. Wilmington Ave., R-1609, R-1730, R-1280, R-1202	Los Angeles 90059	5	52	260	0	P/U Specimen to PHL
14:25	Monday to Friday	APLA - Long Beach Clinic	1043 Elm Ave., 3 Fl #302	Long Beach 90813	5	52	260	248	P/U Specimen to PHL
14:30	Monday to Friday	St. Mary's Care Clinic	1043 Elm Ave., 3 Fl #300	Long Beach 90813	5	52	260	248	P/U Specimen to PHL
14:45	Monday to Friday	Long Beach Public Health Lab	2525 S. Grand Ave., #115	Long Beach 90815	5	52	260	248	P/U Specimen to PHL

					Days per Week	Weeks per Year	Annual Stop Number	Annual Stop Number Deducting Holidays and No Pick-Up	Route Description
15:30	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver All Specimens
AREA 6							3912	754	
7:15	Monday to Friday	LAC+USC Medical Center	1200 N. State St., #2C433	Los Angeles 90033	5	52	260	0	P/U Specimens, Envelopes & Supplies. Check Refrigerator & Freezer for Specimen to OVMC, PH, Rancho, Harbor, MLK
8:10	Monday to Friday	San Fernando Valley Juvenile Court	16350 Filibert St.	Sylmar 91342	5	52	260	0	P/U Specimens to CJH & PHL
8:30	Monday to Friday	Olive View Medical Center	14445 Olive Veiw Dr., R-1A-127 & R-1A-106	Sylmar 91342	5	52	260	0	P/U Specimen to PHL, Deliver Specimen
10:00	Monday to Friday	Rancho Los Amigos	7601 Imperial Hwy.	Downey 90242	5	52	260	0	Deliver Reports, P/U Reports & Supplies for Route
10:15	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver All Specimens, P/U X-Rays, Envelopes, Specimens & Supplies for Route
10:30	Monday to Friday	Los Padrinos	7285 Quill Dr.	Downey 90242	5	52	260	248	P/U Specimens to CJH & PHL
11:05	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St., R-2S3 & 2S4 Lab	Torrance 90502	5	52	260	0	Deliver Specimens, P/U Specimens to PHL, LAC- USC & MLK
12:05	Monday to Friday	MLK Medical Center	12021 S. Wilmington St.	Compton 90222	5	52	260	0	Deliver Specimens, P/U Speicment to PHL, Harbor- UCLA & LAC-USC
12:25	Monday to Friday	Humphrey Comp Health Center	5850 S. Main St.	Los Angeles 90033	5	52	260	0	Deliver Mail & Supplies, P/U Specimens to PHL & LAC-USC
12:55	Monday to Friday	Central Juvenile Court	1605 E. Lake Ave.	Los Angeles 90033	5	52	260	0	Deliver Reports, P/U Reports & Supplies for Route
13:05	Monday to Friday	LAC+USC Medical Center	1200 N. State St., #2C433	Los Angeles 90033	5	52	260	0	Deliver Reports, P/U Reports & Supplies for Route
13:50	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St., R-2S3 & 2S4 Lab	Torrance 90502	5	52	260	0	Deliver Reports, P/U Reports & Supplies for Route
14:15	Monday to Friday	MLK Medical Center	1720 E. 120th Street, r-3007 Central Receiving	Compton 90222	5	52	260	0	Deliver Reports, P/U Reports & Supplies for Route
14:35	Monday-2nd Monday of every month	JWCH Wesley H. Center	3591 E. Imperial Hwy.	Lynwood 90262	1	12	12	10	P/U Specimen to PHL
14:45	Monday to Friday	Rancho Los Amigos	7601 Imperial Hwy.	Downey 90242	5	52	260	0	P/U SPeicmen to PHL & LAC-USC
15:00	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver Specimens, P/U Specimens to LAC-USC
<del>15:45</del>	<del>Monday to Friday</del>	LAC+USC Medical Center-	<del>1200 N. State St., #2C433</del>	Los Angeles 90033	<del>5</del>	<del>52</del>	<del>260</del>	θ	D <del>eliver Specimens</del>
AREA 7							1040	744	
9:50	Monday to Friday	H. Claude Hudson CHC	2829 S. Grand Ave.	Los Angeles 90007	5	52	260	0	P/U Specimen to PHL
10:10	Monday to Friday	Central Community Clinic	5970 S. Central Ave	Los Angeles 90001	5	52	260	248	P/U Specimen to PHL
10:30	Monday to Friday	Century Regional Detention Center	11705 S. Alameda St.	Lynwood 90262	5	52	260	248	P/U Specimen to PHL
12:00	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver Specimens to PHL
AREA 8							3120	2977	
9:00	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	P/U X-Rays, Envelopes, Specimens & Supplies for Route
9:40	Monday to Friday	Central Health Center	241 N. Figueroa St., Rm 126	Los Angeles 90012	5	52	260	248	P/U Specimen to PHL, Deliver X-Rays
10:40	Monday to Friday	A.H.F. West Side	99 N. La Cienega Blvd., R-205 & 200 LAB	Beverly Hills 90211	5	52	260	248	P/U Specimen to PHL

					Days per Week	Weeks per Year	Annual Stop Number	Annual Stop Number Deducting Holidays and No Pick-Up	Route Description
11:00	Monday to Friday	UCLA Care Center	1399 Roxbury Drive #100	Los Angeles 90035	5	52	260	248	P/U Specimen to PHL
11:20	Monday, Wednesday, Friday	Roman Hollyday 2	12814 Venice Blvd.	Los Angeles 90066	3	52	156	147	P/U Specimen to PHL
11:35	Wednesday	Venice Family Clinic	604 Rose Ave.	Venice 90291	1	52	52	51	P/U Specimen to PHL
12:05	Monday to Friday	Burke Health Center (Simms-Mann)	2509 Pico Blvd.	Santa Monica 90405	5	52	260	248	P/U Specimen to PHL
12:20	Monday to Friday	UCLA Lab (Micro Lab)	11633 San Vicente Blvd. R- 402	Los Angeles 90049	5	52	260	258	P/U Specimen to PHL
12:50	Monday, Wednesday	El Proyecto Del Barrio	9140 Van Nuys Blvd.	Panorama City 91402	2	52	104	96	P/U Specimen to PHL
13:45	Monday, Wednesday, Friday	Northeast Valley Health Center	14624 Sherman Way, R-600 Lab	Van Nuys 91405	3	52	156	147	P/U Specimen to PHL
13:55	Monday, Wednesday, Friday	Roma Hollyday	14435 Victory Blvd.	Van Nuys 91401	3	52	156	147	P/U Specimen to PHL
14:15	Monday to Friday	Kaiser Permanente	11668 Sherman Way	North Hollywood 91605	5	52	260	248	P/U Specimen to PHL
14:35	Monday, Wednesday, Friday	North Hollywood Spa	5636 Vineland Ave.	North Hollywood 91601	3	52	156	147	P/U Specimen to PHL
14:45	Monday to Friday	North Hollywood Health Center	5300 Tujunga Ave.	North Hollywood 91601	5	52	260	248	P/U Specimen to PHL
14:00	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver all Specimens
AREA 9							364	52	
9:00	Saturday	Olive View Medical Center	14445 Olive View Dr., R-1A-127 & R-1A-106	Sylmar 91342	1	52	52	0	P/U Specimen to LAC-USC, Harbor-UCLA & PHL
9:00	Saturday	H. Claude Hudson CHC	2829 S. Grand Ave.	Los Angeles 90007	1	52	52	0	P/U Specimen to PHL
10:00	Saturday	LAC+USC Medical Center	1200 N. State St., #2C433	Los Angeles 90033	1	52	52	0	Deliver Specimens, P/U Specimens to PHL & Harbor-UCLA
10:30	Saturday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	1	52	52	52	Deliver all Specimens to PHL, P/U Specimens to LAC-USC & Harbor-UCLA

AREA 9A							52	156	
8:00	Saturday	Los Angeles LGBT Center	1625 Schrader Blvd.	Los Angeles 90028	1	52	52	52	P/U Specimen to PHL. Return to PHL by 11:00 AM
10:00	Saturday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	1	52	52		Deliver all Specimens to PHL, P/U Specimens to LAC-USC & Harbor-UCLA
11:40	Saturday	Edward R. Roybal C.H.C.	245 S. Fetterly Ave.	Los Angeles 90022	1	52	52	0	P/U Specimen to PHL
12:00	Saturday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	1	52	52		Deliver all Specimens to PHL, P/U Specimens to LAC-USC & Harbor-UCLA
AREA 10							1144	845	
10:45	Monday to Friday	Antelope Valley Health Center	3358 E. Ave K-6	Lancaster 93535	5	52	260	248	P/U Specimen to PHL
10:35	Thursday	AHF Antelope Valley	1669 E. Avenue J Suite 301	Lancaster 93535	1	52	52	50	P/U Specimen to PHL
11:00	Wednesday Only	Tarzana Treatment Center - Palmdale	320 E. Palmdale Blvd.	Palmdale, CA 93550	1	52	52	51	P/U Specimen to PHL
11:30	Monday to Friday	High Desert Hospital	44900 N. 60th Street	Lancaster 93535	5	52	260	248	P/U Specimen to PHL & OVMC

					Days per Week	Weeks per Year		Annual Stop Number Deducting Holidays and No Pick-Up	Route Description
13:15	Monday to Friday	Olive View Medical Center	14445 Olive View Dr., R-1A-127 & R-1A-106	Sylmar 91342	5	52	260	0	Deliver Specimens, P/U Specimens to PHL
14:30	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260		Deliver All Specimens, P/U X-Rays, Envelopes, Specimens & Supplies for Route
							520	248	
11:50	Monday to Friday	Edward R. Roybal C.H.C.	245 S. Fetterly Ave.	Los Angeles 90022	5	52	260	0	P/U Specimen to PHL
14:30	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	260	248	Deliver All Specimens
As Needed	Routine						572	0	
13:00	Monday to Friday	LA County Coroner	1104 N. Mission Road	Los Angeles CA 90033	5	52	260	0	P/U Specimen to PHL Daily as needed
11:00	Monday to Friday	LA LGBT Center WeHo (SPOT)	8745 Santa Monica Blvd., 2nd Fl	West Hollywood 90069	5	52	260	0	P/U Specimen to PHL Return to PHL by 2:00 PM
13:00	Thursday	East LA Doctor's Hospital	4060 Whittier Blvd.	Los Angeles	1	52	52	0	P/U Specimen to PHL

Total Annual Number of Stops 21,477

Exhibit I

Agreement No.: 77653

## AGREEMENT BY AND BETWEEN COUNTY OF LOS ANGELES AND HEALTH CARE LOGISTIC MANAGEMENT, INC. DBA ACCURATE COURIER SERVICES FOR DEPARTMENT OF HEALTH SERVICES LABORATORY COURIER SERVICES

Amendment No. 9

THIS AMENDMENT is made and entered into this <u>パ</u> day of <u></u>しん E , 2019,

By and between COUNTY OF LOS ANGELES (hereafter "County")

And

HEALTH CARE LOGISTIC MANAGEMENT, INC. DBA ACCURATE COURIER SERVICES (hereafter "Contractor")

Business Address: 14320 Ventura Blvd., Unit 449 Sherman Oaks, CA 91423

WHEREAS, reference is made to that certain document entitled "Agreement by and between County of Los Angeles and Health Care Logistic Management, Inc. dba Accurate Courier Services for Department of Health Services Laboratory Courier Services," dated September 6, 2011, and further identified as Agreement No. 77653, including any amendments thereto (all hereafter referred to as "Agreement"); and

WHEREAS, it is the intent of the parties hereto to amend the Agreement to extend the term for one (1) year until and through June 30, 2020, with option(s) to extend the Agreement term for up to six (6) months through December 31, 2020; and

WHEREAS, it is also the intent of the parties hereto to amend the Agreement to update and/or add certain terms and conditions to the Agreement and to provide for the other changes as set forth herein; and

WHEREAS, the Agreement, Paragraph 8.0 – Standard Terms and Conditions, Sub-paragraph 8.1 – Amendments provides that such changes may be made in the form of a written Amendment, which is formally approved and executed by the parties; and

WHEREAS, Contractor warrants that it continues to possess the competence, expertise and personnel necessary to provide services consistent with the requirements of this Agreement and consistent with the professional standard of care for these services.

NOW, THEREFORE, THE PARTIES HERETO AGREE AS FOLLOWS:

1. This Amendment shall be effective upon execution.

2. The Agreement is hereby incorporated by reference, and all of its terms and conditions, including capitalized terms defined therein, shall be given full force and effect as if fully set forth herein.

3. The Agreement, Paragraph 4.0 - Term of Agreement is deleted in its entirety and replaced to read as follows:

# "4.0 TERM OF AGREEMENT

- 4.1 The term of this Agreement shall commence on October 1, 2011, and shall expire on June 30, 2020, unless sooner terminated or extended, in whole or in part, as provided in this Agreement.
- 4.2 The County shall have the sole option to extend this Agreement term for up to six (6) months through December 31, 2020. Such extension option(s) shall be exercised at the sole discretion of the Director of DHS, or authorized designee, by written notice to the Contractor specifying the extension period.
- 4.3 The County maintains databases that track/monitor Contractor performance history. Information entered into such databases may be used for a variety of purposes, including determining whether the County will exercise an Agreement term extension option.
- 4.4 The Contractor shall notify DHS when this Agreement is within six (6) months from the expiration of the term as provided for hereinabove. Upon occurrence of this event, the Contractor shall send written notification to the DHS at the address herein provided in Exhibit E-3 – County's Administration."

4. The Agreement, Sub-paragraph 8.2 – Assignment and Delegation is deleted in its entirety and replaced to read as follows:

# **\*8.2 ASSIGNMENT AND DELEGATION**

- 8.2.1 The Contractor shall notify the County of any pending acquisitions/mergers of its company unless otherwise legally prohibited from doing so. If the Contractor is restricted from legally notifying the County of pending acquisitions/mergers, then it should notify the County of the actual acquisitions/mergers as soon as the law allows and provide to the County the legal framework that restricted it from notifying the County prior to the actual acquisitions/mergers.
- 8.2.2 The Contractor shall not assign its rights or delegate its duties under this Agreement, or both, whether in whole or in part, without the prior written consent of the County, in its discretion, and any attempted assignment or delegation without such consent shall be null and void. For purposes of this Subparagraph, the County consent shall require a written Amendment to the Agreement, which is formally approved and executed by the parties. Any payments by the County to any approved delegate or assignee on any claim under this Agreement shall be deductible, at the County's sole discretion, against the claims, which the Contractor may have against the County.
- 8.2.3 Shareholders, partners, members, or other equity holders of the Contractor may transfer, sell, exchange, assign, or divest themselves of any interest they may have therein. However, in the event any such sale, transfer, exchange, assignment, or divestment is effected in such a way as to give majority control of the Contractor to any person(s), corporation, partnership, or legal entity other than the majority controlling interest therein at the time of execution of the Agreement, such disposition is an assignment requiring the prior written consent of the County in accordance with applicable provisions of this Agreement.
- 8.2.4 Any assumption, assignment, delegation, or takeover of any of the Contractor's duties, responsibilities, obligations, or performance of same by any entity other than the Contractor, whether through assignment, subcontract, delegation, merger, buyout, or any other mechanism, with or without consideration for any reason whatsoever without the County's express prior written approval, shall be a material breach of the Agreement which may result in the

termination of this Agreement. In the event of such termination, the County shall be entitled to pursue the same remedies against the Contractor as it could pursue in the event of default by the Contractor."

5. The Agreement, Sub-paragraph 8.45 – Termination for Improper Consideration, Sub-paragraph 8.45.2 is deleted in its entirety and replaced to read as follows:

"8.45.2 The Contractor shall immediately report any attempt by a County officer or employee to solicit such improper consideration. The report shall be made either to the County manager charged with the supervision of the employee or to the County Fraud Hotline at (800) 544-6861 or <a href="http://fraud.lacounty.gov/">http://fraud.lacounty.gov/</a>."

6. The Agreement, Exhibit B1-5 – Price Sheet Routine Route Services is deleted in its entirety and replaced with Exhibit B1-6 – Price Sheet Routine Route Services, attached hereto and incorporated herein by reference. Any and all references to Exhibit B1-5 throughout the Agreement shall hereafter be referenced to as Exhibit B1-6.

7. The Agreement, Exhibit B2-3 – Price Sheet Non-Routine Services is deleted in its entirety and replaced with Exhibit B2-4 – Price Sheet Non-Routine Services, attached hereto and incorporated herein by reference. Any and all references to Exhibit B2-3 throughout the Agreement shall hereafter be referenced to as Exhibit B2-4.

8. The Agreement, Exhibit E-2 – County's Administration is deleted in its entirety and replaced with Exhibit E-3 – County's Administration, attached hereto and incorporated herein by reference. Any and all references to Exhibit E-2 throughout the Agreement shall hereafter be referenced to as Exhibit E-3.

9. The Agreement, Technical Exhibit 3-3 – Routine Route Schedule is deleted in its entirety and replaced with Technical Exhibit 3-4 – Routine Route Schedule, attached hereto and incorporated herein by reference. Any and all references to Exhibit 3-3 throughout the Agreement shall hereafter be referenced to as Exhibit 3-4.

10. Except for the changes set forth hereinabove, Agreement shall not be changed in any respect by this Agreement.

IN WITNESS WHEREOF, the Board of Supervisors of the County of Los Angeles has caused this Amendment to be executed by its Chair, and Contractor has caused this Amendment to be executed on its behalf by its duly authorized officer, on the day, month, and year first above written.

COUNTY OF LOS ANGELES BOARD OF SUPERVISORS COUNTY OF LOS ANGELES amyn Barger #27 湯興國 JUN 1 1 2019 Bv Chair of the Board **PRO TEM** CONTRACTOR EXECUTIVE OFFICER Health Care Logistic Management, Inc. dba Accurate Courier Services By: Signature ODED HADANI Printed Name CEO Title ATTEST: I hereby certify that pursuant to CELIA ZAVALA Section 25103 of the Government Code, delivery of this document has been made. Executive Officer Clerk of the Board of Supervisors CELIA ZAVALA **Executive Officer** Clerk of the Board of Supervisors By Deputy By. APPROVED AS TO FORM: Deputy MARY C. WICKHAM County Counsel Bv

VICTORIA MANSOURIAN Principal Deputy County Counsel

Agreement 77653 - Amendment #9

Page 5

5

ω

Supplement No.-

# LOS ANGELES COUNTY DEPARTMENT OF HEALTH SERVICES

# PRICE SHEET ROUTINE ROUTE SERVICES All Inclusive Fixed Fee Per Stop

	Estimated Number of Stops Per Month*	All Inclusive Fixed Fee Per Stop**
<u>ORIGINAL TERM</u> 10/01/11 – 09/30/16	<u>2,450</u>	<u>\$12.37</u>
AMENDMENT NO. 4 10/01/16 – 03/31/17	<u>2,661</u>	<u>\$14.67</u>
AMENDMENT NO. 6 04/01/17 – 12/31/17	<u>2,661</u>	<u>\$15.54</u>
AMENDMENT NO. 6 01/01/18 – 03/31/18	<u>2,661</u>	<u>\$16.20</u>
AMENDMENT NO. 7 04/01/18 – 12/31/18	<u>2,605</u>	<u>\$18.66</u>
AMENDMENT NO. 8 01/01/19 – 06/30/19	<u>2,679</u>	<u>\$19.36</u>
AMENDMENT NO. 9 07/01/19 – 06/30/20	<u>2,696</u>	<u>\$19.88</u>

\*Estimated number of stops; actual number may vary due to the addition/deletion of stops.

\*\*All costs associated with the Proposer's provision of Routine Route Services is included in the All Inclusive Fixed Fee Per Stop". (Pursuant to Paragraph 5.0, Agreement Rates, in Sub Paragraph 5.1.1, the All Inclusive Fixed Fee per stop includes \$0.31/per mile reimbursement rate to all drivers performing services under this Agreement).

# LOS ANGELES COUNTY DEPARTMENT OF HEALTH SERVICES

# PRICE SHEET NON-ROUTINE SERVICES All Inclusive Charge Per Mile

	AS NEEDED	AS NEEDED	ON-	CALL	_	rAT r period		RSTAT r period
	Mon. – Thu. (after 6 pm)	Weekends (Fri. 6 pm – Mon. 6 am)	Mon. – Thu. (after 6pm)	Weekends (Fri. 6pm – Mon. 6am)	Mon. – Thu. (after 6pm)	Weekends (Fri. 6pm – Mon. 6am),	Mon. – Thu. (after 6pm)	Weekends (Fri. 6pm – Mon. 6am),
	Mon. – Fri. (6am – 6pm)	Holidays (24 hr.)	Mon. – Fri. (6am-6pm)	Holidays (24 hr.)	Mon. – Fri. (6am-6pm)	Holidays (24 hr.)	Mon. – Fri. (6am-6pm)	Holidays (24 hr.)
<u>ORIGINAL TERM</u> 10/01/11 – 09/30/16	\$1.70	\$3.08	\$1.70	\$3.08	\$2.05	\$3.08	\$2.55	\$3.08
AMENDMENT NO. 4 10/01/16 - 03/31/17	\$1.60	\$2.98	\$1.60	\$2.98	\$1.95	\$2.98	\$2.42	\$2.98
<u>AMENDMENT NO. 6</u> 04/01/17 – 03/31/18	\$1.60	\$2.98	\$1.60	\$2.98	\$1.95	\$2.98	\$2.42	\$2.98
<u>AMENDMENT NO. 7</u> 04/01/18 – 12/31/18	\$1.76	\$3.28	\$1.76	\$3.28	\$2.15	\$3.28	\$2.66	\$3.28
<u>AMENDMENT NO. 8</u> 01/01/19 – 06/30/19	\$1.76	\$3.28	\$1.76	\$3.28	\$2.15	\$3.28	N/A	N/A
<u>AMENDMENT NO. 9</u> 07/01/19 – 06/30/20	\$1.81	\$3.37	\$1.81	\$3.37	\$2.21	\$3.37	N/A	N/A

# **COUNTY'S ADMINISTRATION**

# AGREEMENT NO: 77653

# **COUNTY PROJECT DIRECTOR:**

Name: Christina R. Ghaly, M.D. Title: Director of Health Services Address: 313 North Figueroa Street, Suite 912 Los Angeles, California 90012 Telephone: (213) 288-8101 Facsimile: (213) 481-0503

# COUNTY PROJECT MANAGER:

- Name: Erin Sams
- Title: Supervising Clinical Laboratory Scientist II
- Address: H. Claude Hudson Comprehensive Health Center 2829 South Grand Avenue, Room 133, Laboratory Los Angeles, California 90007
- Telephone: (213) 699-7090
- Facsimile: (213) 746-3199
- E-Mail Address: esams@dhs.lacounty.gov

# FACILITY'S PROJECT MONITOR:

Contract information is included in the following table under the Contact column for each DHS Service Location, to include the Sheriff's Department.

SERVICE LOCATION	CONTACT	BILLING ADDRESS
Antelope Valley Health Center 335-B East Avenue, K-6 Lancaster 93535	Jaysri Hira (661) 471-4131 JHira@dhs.lacounty.gov	High Desert Regional Health Center Expenditure Management 335 East Avenue I, Room 25B Lancaster 93536
Barry J. Nidorf Juvenile Hall 16350 Filbert Street Sylmar 91342	Elena Laurich (323) 226-8723, elaurich@dhs.lacounty.gov Thelma Geronimo (323) 226-8809 tgeronimo@dhs.lacounty.gov	Juvenile Court Health Services Billing Processing 1925 Daly St. 1st Floor Los Angeles, CA 90031
Bellflower Health Center 10005 E. Flower Street Bellflower 90706	Toni Ontiveros (310)222-2229 tontiveros@dhs.lacounty.gov	Harbor-UCLA Medical Center 1000 W. Carson Street Building N-25 Box 479 Torrance 90509-2910
Castaic-North County Correctional 29340 The Old Road Castaic, CA 91349	Jo-Anne Villapando (661) 295-7922 jvillap@lasd.org	LA Jail Twin Towers Integrated Correctional Health Services-DHS 479 Bauchet St. Los Angeles, CA 90012
Central Health Center 241 N. Figueroa Street Los Angeles 90012	Sherri Delarosa (323) 409-7029 sdelarosa@dhs.lacounty.gov	LAC+USC Medical Center P.O. Box 861749 Los Angeles 90086
Central Juvenile Hall 1605 Eastlake Avenue Los Angeles 90033	Elena Laurich (323) 226-8723, elaurich@dhs.lacounty.gov Thelma Geronimo (323) 226-8809 tgeronimo@dhs.lacounty.gov	Juvenile Court Health Services Billing Processing 1925 Daly St. 1st Floor Los Angeles, CA 90031
Challenger Memorial Youth Center 5300 W. Avenue "I" Lancaster 93534	Elena Laurich (323) 226-8723, elaurich@dhs.lacounty.gov Thelma Geronimo (323) 226-8809 tgeronimo@dhs.lacounty.gov	Juvenile Court Health Services Billing Processing 1925 Daly St. 1st Floor Los Angeles, CA 90031
Curtis Tucker Health Center 123 W. Manchester Boulevard Inglewood 90301	Erin Sams (213) 699-7090 esams@dhs.lacounty.gov	LAC+USC Medical Center P.O. Box 861749 Los Angeles 90086
Dollarhide Health Center 1108 N. Oleander Street Compton 90221	Toni Ontiveros (310)222-2229 tontiveros@dhs.lacounty.gov	Harbor-UCLA Medical Center 1000 W. Carson Street Building N-25 Box 479 Torrance 90509-2910

## **EXHIBIT E-3**

SERVICE LOCATION	CONTACT	BILLING ADDRESS
Dorothy F. Kirby Center 1500 S. McDonnell Avenue Los Angeles 90022	Elena Laurich (323) 226-8723, elaurich@dhs.lacounty.gov Thelma Geronimo (323) 226-8809 tgeronimo@dhs.lacounty.gov	Juvenile Court Health Services Billing Processing 1925 Daly St. 1st Floor Los Angeles, CA 90031
East Los Angeles Health Center 133 N. Sunol Drive Los Angeles, CA 90063	Lily Yue 323 362 1337 Lyue@dhs.lacounty.gov	LAC+USC Medical Center P.O. Box 861749 Los Angeles 90086
East San Gabriel Valley Satellite Medical Hub 4024 N. Durfee El Monte 91731	Karen Dacayo (626) 967-5674 kdacayo@dhs.lacounty.gov	LAC+USC Medical Center P.O. Box 861749 Los Angeles 90086
Edward R. Roybal C.H.C. 245 S. Fetterly Avenue Los Angeles 90022	Lily Yue 323 362 1337 Lyue@dhs.lacounty.gov	LAC+USC Medical Center P.O. Box 861749 Los Angeles 90086
El Monte C.H.C. 10953 Ramona Boulevard El Monte 91731	Khristine Mesias (626) 434-2512 KMesias@dhs.lacounty.gov	LAC+USC Medical Center P.O. Box 861749 Los Angeles 90086
Harbor UCLA Family Medicine Center 1403 W. Lomita Avenue Harbor City 90710	Toni Ontiveros (310)222-2229 tontiveros@dhs.lacounty.gov	Harbor-UCLA Medical Center 1000 W. Carson Street Building N-25 Box 479 Torrance 90509-2910
Gardena School Based Clinic 1301 W. 182 <sup>nd</sup> Street, Room W1 Gardena 90248	Toni Ontiveros (310)222-2229 tontiveros@dhs.lacounty.gov	Harbor-UCLA Medical Center 1000 W. Carson Street Building N-25 Box 479 Torrance 90509-2910
Glendale Health Center 501 N. Glendale Avenue Glendale 91206	Linda Williams (747) 210-3825 linwilliams@dhs.lacounty.gov	Olive View-UCLA Medical Center Expenditure Management 14445 Olive View Drive Sylmar 91342-1495
H. Claude Hudson C.H.C. 2829 S. Grand Avenue Los Angeles 90007	Erin Sams (213) 699-7090 esams@dhs.lacounty.gov	LAC+USC Medical Center P.O. Box 861749 Los Angeles 90086
Harbor-UCLA Medical Center 1000 W. Carson Street Torrance 90509	Toni Ontiveros (310)222-2229 tontiveros@dhs.lacounty.gov	Harbor-UCLA Medical Center 1000 W. Carson Street Building N-25 Box 479 Torrance 90509-2910
High Desert Regional Health Center 335 East Avenue I, Room 25 Lancaster 93536	Jaysri Hira (661) 471-4131 JHira@dhs.lacounty.gov	High Desert Regional Health Center Expenditure Management 335 East Avenue I, Room 25B Lancaster 93536

### **EXHIBIT E-3**

SERVICE LOCATION	CONTACT	BILLING ADDRESS
Hollywood/Wilshire Health Center 5205 Melrose Avenue Hollywood 90038	Sherri Delarosa (323) 409-7029 sdelarosa@dhs.lacounty.gov	LAC+USC Medical Center P.O. Box 861749 Los Angeles 90086
Hubert H. Humphrey C.H.C. 5850 S. Main Street Los Angeles 90003	Thanh-Ha Nghiem (323) 897-6121 tnghiem@dhs.lacounty.gov	Harbor-UCLA Medical Center 1000 W. Carson Street Building N-25 Box 479 Torrance 90509-2910
La Puente Health Center 15930 Central Avenue La Puente 91744	Khristine Mesias (626) 434-2512 KMesias@dhs.lacounty.gov	LAC+USC Medical Center P.O. Box 861749 Los Angeles 90086
LAC+USC Medical Center 1200 N. State Street Los Angeles 90033	Sherri Delarosa (323) 409-7029 sdelarosa@dhs.lacounty.gov	LAC+USC Medical Center P.O. Box 861749 Los Angeles 90086
Lake Los Angeles Community Clinic 16921 East Avenue O, Space G Lake Los Angeles 93591	Jaysri Hira (661) 471-4131 JHira@dhs.lacounty.gov	High Desert Regional Health Center Expenditure Management 335 East Avenue I, Room 25B Lancaster 93536
Littlerock Community Clinic 8201 Pearblossom Highway Littlerock 93543	Jaysri Hira (661) 471-4131 JHira@dhs.lacounty.gov	High Desert Regional Health Center Expenditure Management 335 East Avenue I, Room 25B Lancaster 93536
Long Beach C.H.C. 1333 Chestnut Avenue Long Beach 90813	Toni Ontiveros (310)222-2229 tontiveros@dhs.lacounty.gov	Harbor-UCLA Medical Center 1000 W. Carson Street Building N-25 Box 479 Torrance 90509-2910
Los Padrinos Juvenile Hall 7285 Quill Drive Downey 90242	Elena Laurich (323) 226-8723, elaurich@dhs.lacounty.gov Thelma Geronimo (323) 226-8809 tgeronimo@dhs.lacounty.gov	Juvenile Court Health Services Billing Processing 1925 Daly St. 1st Floor Los Angeles, CA 90031
Lynwood – Century Regional Detention Facility 11705 S. Alameda Street Lynwood, CA 90262	Eman Loka (323) 568-4553 eloka@lasd.org	LA Jail Twin Towers Integrated Correctional Health Services-DHS 479 Bauchet St. Los Angeles, CA 90012
Martin Luther King, Jr. Outpatient Center 1670 E. 120 <sup>th</sup> Street Los Angeles 90059	Toni Ontiveros (310)222-2229 tontiveros@dhs.lacounty.gov	Harbor-UCLA Medical Center 1000 W. Carson Street Building N-25 Box 450 Torrance 90509-2910
Mid-Valley C.H.C. 7515 Van Nuys Boulevard Van Nuys 91405	Linda Williams (747) 210-3825 linwilliams@dhs.lacounty.gov	Olive View-UCLA Medical Center Expenditure Management 14445 Olive View Drive Sylmar 91342-1495

## **EXHIBIT E-3**

SERVICE LOCATION	CONTACT	BILLING ADDRESS
Monrovia Health Center 330 Maple Avenue Monrovia 91016	Sherri Delarosa (323) 409-7029 sdelarosa@dhs.lacounty.gov	LAC+USC Medical Center P.O. Box 861749 Los Angeles 90086
North Hollywood Health Center 5300 Tujunga Avenue North Hollywood 91601	Linda Williams (747) 210-3825 linwilliams@dhs.lacounty.gov	Olive View-UCLA Medical Center Expenditure Management 14445 Olive View Drive Sylmar 91342-1495
Olive View-UCLA Medical Center 14445 Olive View Drive Sylmar 91342	Linda Williams (747) 210-3825 linwilliams@dhs.lacounty.gov	Olive View-UCLA Medical Center Expenditure Management 14445 Olive View Drive Sylmar 91342-1495
Pacoima Health Center 13300 Van Nuys Boulevard Pacoima 91331	Linda Williams (747) 210-3825 linwilliams@dhs.lacounty.gov	Olive View-UCLA Medical Center Expenditure Management 14445 Olive View Drive Sylmar 91342-1495
Pomona Health Center 750 S. Park Avenue Pomona 91766	Sherri Delarosa (323) 409-7029 sdelarosa@dhs.lacounty.gov	LAC+USC Medical Center P.O. Box 861749 Los Angeles 90086
Rancho Los Amigos N.R.C. 7601 E. Imperial Highway Downy 9242	Daniel Matsuguma (562)385-8998 dmatsuguma@dhs.lacounty.gov	Rancho Los Amigos Expenditure Management 7601 E. Imperial Highway SSA-Building, Room 2208 Downey 90242
San Fernando Health Center 1212 Pico Street San Fernando 91340	Linda Williams (747) 210-3825 linwilliams@dhs.lacounty.gov	Olive View-UCLA Medical Center Expenditure Management 14445 Olive View Drive Sylmar 91342-1495
South Health Center 1522 E. 102 <sup>nd</sup> Street Los Angeles 90002	Toni Ontiveros (310)222-2229 tontiveros@dhs.lacounty.gov	Harbor-UCLA Medical Center 1000 W. Carson Street Building N-25 Box 479 Torrance 90509-2910
South Valley Health Center 38350 40 <sup>th</sup> Street East Palmdale 93552	Jaysri Hira (661) 471-4131 JHira@dhs.lacounty.gov	High Desert Regional Health Center Expenditure Management 335 East Avenue I, Room 25B Lancaster 93536
Star Clinic 242 E. 6 <sup>th</sup> Street Los Angeles 90014	Joanna Mattson JGonzales@dhs.lacounty.gov	LAC+USC Medical Center P.O. Box 861749 Los Angeles 90086
Torrance Health Center 711 Del Amo Boulevard Torrance 90502	Toni Ontiveros (310)222-2229 tontiveros@dhs.lacounty.gov	Harbor-UCLA Medical Center 1000 W. Carson Street Building N-25 Box 479 Torrance 90509-2910

SERVICE LOCATION	CONTACT	BILLING ADDRESS
Twin Towers I & II 450 Bauchet Street Los Angeles 90012	Babypaz Dela Vega (213) 893-5658 BDDelave@lasd.org	LA Jail Twin Towers Integrated Correctional Health Services-DHS 479 Bauchet St. Los Angeles, CA 90012
West Valley Primary Care 20151 Nordhoff St. Chatsworth, CA 91311	Linda Williams (747) 210-3825 linwilliams@dhs.lacounty.gov	Olive View-UCLA Medical Center Expenditure Management 14445 Olive View Drive Sylmar 91342-1495
Vaughn School Based Clinic 13330 Vaughn Street San Fernando 91340	Linda Williams (747) 210-3825 linwilliams@dhs.lacounty.gov	Olive View-UCLA Medical Center Expenditure Management 14445 Olive View Drive Sylmar 91342-1495
Whittier Health Center 7643 S. Painter Avenue Whittier 90602	Sherri Delarosa (323) 409-7029 sdelarosa@dhs.lacounty.gov	LAC+USC Medical Center P.O. Box 861749 Los Angeles 90086
Wilmington Health Center 1326 Broad Avenue Wilmington 90744	Toni Ontiveros (310)222-2229 tontiveros@dhs.lacounty.gov	Harbor-UCLA Medical Center 1000 W. Carson Street Building N-25 Box 479 Torrance 90509-2910

	В	С	D	E	F	G	К	L	М	Ν
1	<u>NO.</u>	TIME	DAYS	FACILITIES	STREET ADDRESS	CITY & ZIP	Days per Week	Weeks per Year	Annual Stop Number	Annual Stop Number Deducting Holidays and Number of Pick-Ups
2		ANTELO	PE VALLEY CLUSTER ROUTE				49		2,444	2,312
3	1	11:00	Monday to Friday	South Valley Health Center	38350 40th St. East	Palmdale 93552	5	52	260	248
4	2	11:15	Monday to Friday	Antelope Valley Health Center	335-B East Ave. K-6	Lancaster 93535	5	52	260	248
5	3	11:30	Thursday only	AHF - CLINIC	1669 W. AVE J	LANCASTER 93534	1	52	0	0
6	4	11:45	Monday & Thursday	Challenger Memorial Youth Center	5300 W. Avenue "I"	Lancaster 93534	2	52	104	92
7	5	12:00	Monday to Friday	High Desert Regional Health Center	335 East Ave.	Lancaster 93535	5	52	260	248
8	6	12:20	Thursday only	THE CATALYST FUNDATION	44758 ELM AVE	LANCASTER 91342	1	52	0	0
9	7	13:30	Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	5	52	260	248
10	8	15:30	Monday, Wednesday, Friday	Lake Los Angeles Community Clinic	16921 East Avenue O, Space G	Lake Los Angeles 93591	3	52	156	144
11	9	15:30	Tuesday, Thursday	Littlerock Community Clinic	8201 Pearblossom Hwy.	Littlerock 93543	2	52	104	92
12	10	16:10	Monday to Friday	Palmdale Health Center	38350 40th St. East	Palmdale 93552	5	52	260	248
13	11	16:30	Monday to Friday	Antelope Valley Health Center	335-B East Ave. K-6	Lancaster 93535	5	52	260	248
14	12	17:00	Monday to Friday	High Desert Regional Health Center	335 East Ave.	Lancaster 93535	5	52	260	248
15	13		Monday to Friday		14445 Olive View Dr.	Sylmar 91342	5	52	260	248
16			PE VALLEY CLUSTER PM ROUTE				10		520	496
17	1		Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	5	52	260	248
18	2		Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	5	52	260	248
19			NANDO CLUSTER ROUTE				33		1,716	1,631
20	2		Tuesday	West Valley Health Center	20151 Nordhoff St	Chastworth, CA 91311	1	52	52	52
21	3		Monday, Wednesday, Friday	North Hollywood Health Center	5300 Tujunga Ave.	North Hollywood 91601	3	52	156	144
22	4	16:30	Monday to Friday	Glendale Health Center	501 N. Glendale Ave.	Glendale 91206	5	52	260	248
23	5		Friday	Mid-Valley C.H.C.	7515 Van Nuys Blvd.	Van Nuys 91405	1	52	52	51
24	6		Monday to Friday	Pacoima Health Center	13300 Van Nuys Blvd.	Pacoima 91331	5	52	260	248
25	7	17:55	Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	5	52	260	248
26	8	20:30	Monday to Thursday	Mid-Valley C.H.C.	7515 Van Nuys Blvd.	Van Nuys 91405	4	52	208	196
27	9	20:45	Monday to Thursday	San Fernando Health Center	1212 Pico St.	San Fernando 91340	4	52	208	196
28	10		Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	5	52	260	248
29			AST CLUSTER ROUTE + ANTELOPE V	-			10		520	520
30	1		Saturday	South Valley Health Center	38350 40th St. East	Palmdale 93552	1	52	52	52
31	2		Saturday	High Desert Regional Health Center	335 East Ave.	Lancaster 93535	1	52	52	52
32	3	16:25	Saturday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731	1	52	52	52
33	4 5	16:50	Saturday	Edward R. Roybal C.H.C.	245 S. Fetterly Ave.	Los Angeles 90022	1	52	52 52	52 52
34 35	5 6	17:30	Saturday	Twin Towers	450 bauchet st.	Los Anegels 90012	1	52 52	52	52
35	7	17:45 18:00	Saturday Saturday	H. Claude Hudson C.H.C.	2829 S. Grand Ave. 5850 S. Main St.	Los Angeles 90007 Los Angeles 90003	1	52	52	52
37	8			Hubert H. Humphrey C.H.C.	1200 N. State St.	-	1	52	52	52
	0 9	18:30 19:10	Saturday Saturday	LAC+USC Medical Center Martin Luther King, Jr. M.A.C.C.	1720 N. State St. 1720 E. 120th St.	Los Angeles 90033 Los Angeles 90059	1	52	52	52
38 39	9 10		Saturday	Harbor-UCLA Medical Center	1720 E. 120th St. 1000 W. Carson St.	Los Angeles 90059 Los angeles Ca 90502	1	52	52	52
39 40			AST CLUSTER ROUTE + ANTELOPE V			LUS ANYEIES UA 90002	9	32	52 468	468
40	1		Sunday and Holiday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	9	52	52	400
41	2		Sunday and Holiday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90007	1	52	52	
42	2	12.30	Sunday and Holiday	South Valley Health Center	38350 40th St. East	Palmdale 93552	1	52	52	
43	4	14:15	Sunday and Holiday	High Desert Regional Health Center	335 East Ave. I	Lancaster 93535	1	52	52	
44	4 5	16:50	Sunday and Holiday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	1	52	52	
45	6	17:30	Sunday and Holiday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90005	1	52	52	
40	7	18:15	Sunday and Holiday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90007	1	52	52	
48	8	19:15	Sunday and Holiday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	1	52	52	
70	5	10.10	canady and holiday	Martin Edulor Hing, or. M.A.O.O.	12021 0. Willington / We.			02	02	

44     6     10:36     Sunday and Huliday     Hartar-UCA Medical Center     1000 W. Canson St.     Lear angeles Ga 80502     1     52     52       55     17.1     27     52     52     50		В	С	D	F	F	G	К		М	Ν
No.     Table     Dates     Excluting     STILL ADDRESS     STILL ADDRESS     STILL ADDRESS     Annual Stop Number     Annual Stop Number       00     NORTHEAST CLUSTER ROUTE: Subroute 1     7.8     Northele Network     7.8     Northele Network     Northele Network <t< td=""><td>40</td><td>-</td><td>-</td><td></td><td></td><td>1000 W. Carson St</td><td></td><td></td><td>52</td><td></td><td>N</td></t<>	40	-	-			1000 W. Carson St			52		N
No.     Note:     LAG     LAG <thlag< t<="" td=""><td>49</td><td>0</td><td>19.50</td><td>Sunday and Fioliday</td><td></td><td></td><td>Los aligeles Ca 30002</td><td>1</td><td>52</td><td></td><td>Annual Stop Number</td></thlag<>	49	0	19.50	Sunday and Fioliday			Los aligeles Ca 30002	1	52		Annual Stop Number
Sol     Work     Yasi     Number of PLAS       202     1     7.30     Mondray to Firking     LACHUSC Medical Center     1200 N State SL     Los Angeles 50003     5     52     260     2480       21     3     Mondray to Firking     Eldwards CLC     248 S. Felterly Ave.     Los Angeles 50007     5     52     260     2480       24     8.50     Mondray to Firking     Eldwards CLC.     248 S. Felterly Ave.     Los Angeles 50002     5     52     260     2485       25     10     Mondray to Firking     Eldwards CLC.     248 S. Felterly Ave.     Los Angeles 50003     5     52     260     2485       26     7     055 Mondray to Firking     Monrovia Hellin Center     1200 N State SL     Monrovia Hellin Center     1200 N State SL     State SL     260     2485       27     10     13.15     Mondray to Firking     Monrovia Hellin Center     1200 N State SL     Monrovia Hellin Center     1200 N State SL     Los Angeles 5003     5     52     260     2485       28     11     13.50 Mondray to Firking		NO. T	IME	DAYS	FACILITIES	STREET ADDRESS	CITY & ZIP	Days per	Wooks per		Deducting Holidays and
NORTHEAST CLUSTER ROUTE: Subroute 1     NORTHEAST CLUSTER ROUTE: Subroute 1     Northey Stream     AC-USC Made 1     Northey Stream     Northey Stream <t< td=""><td></td><td></td><td></td><td></td><td></td><td><u></u></td><td><u></u></td><td></td><td></td><td></td><td>Number of Pick-Ups</td></t<>						<u></u>	<u></u>				Number of Pick-Ups
Instruction     1     7.30     Monday to Friday     LAC-USC Medical Center     1200 N State 51.     Las Angeles 90007     5     52     280     248       54     3     8.50     Monday to Friday     Edward R. Roybal C.H.C.     245 S. Faterly Ave.     Las Angeles 90007     5     52     280     248       57     5     10.05     Monday to Friday     El Monto (L.C.     245 S. Faterly Ave.     Las Angeles 90007     5     52     280     2480       67     5     10.05     Monday to Friday     Central Juvenile Hall     1005 Sattable Ave.     Las Angeles 90033     5     52     280     2480       68     10     Ninday to Friday     Monrovia 9106     5     52     280     2480       7     10     Monday to Friday     Monrovia 9106     5     52     280     2480       10     12.16     Monday to Friday     Monrovia 9106     5     52     280     2480       11     13.05     Monday to Friday     Monrovia 9106     5     52     280     2481 </td <td></td> <td>Ν</td> <td>ORTHE</td> <td>AST CLUSTER ROUTE: Subroute 1</td> <td></td> <td></td> <td></td> <td>75</td> <td></td> <td>3,900</td> <td></td>		Ν	ORTHE	AST CLUSTER ROUTE: Subroute 1				75		3,900	
S5     2	52	1	7:30	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	
15.4     3     8:50     Monday to Friday     Edward R. Roybal C.H.C.     245 5.     Fetterly Ave.     Los Angeles 90022     5     52     260     2448       67     5     10.05     Monday to Friday     Certrial Jurentie Hall     1005 Santako Ave.     Los Angeles 90033     5     5.2     260     2448       68     7     10.55     Monday to Friday     Monrovia Health Center     300 Manor 10 Friday     200     Xinter 85.     Los Angeles 90033     5     5.2     260     2448       68     110     Monday to Friday     Pornona Health Center     763 S. Park Ave.     Ponnona Health Center     763 S. Park Ave.     Ponnona Health Center     763 S. Park Ave.     Ponnona 19766     5     5.2     260     2448       61     11 3150     Monday to Friday     Monrova Health Center     730 S. Park Ave.     Ponnona 19766     5     5.2     260     2448       65     13     15.05     Monday to Friday     LaP Health Center     730 S. Park Ave.     Ponnona 19766     5     5.2     260     2448       66	53	2	8:20	Monday to Friday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	5	52	260	248
65     4     9.20     Montay to Friday     Ell Monte CH C.     1095 Ramone Bivd.     Ell Monte ST31     5     6.22     200     2448       88     10.20     Monday to Friday     LAC-USC Medical Center     1200 N. State St.     Los Angeles 80033     5     5.22     200     2448       88     11.30     Monday to Friday     Pomona Health Center     730 N. State St.     Los Angeles 80033     5     5.22     200     2448       80     11.315     Monday to Friday     Pomona Health Center     730 S. Park Ave.     Pomona 91766     5     5.22     200     2448       81     11.315     Monday to Friday     LAC-USC Medical Center     730 Naple Ave.     Montorvia 1016     5     5.22     200     2448       81     13     Stotady to Friday     Pomona Health Center     730 Naple Ave.     Montorvia 1016     5     522     200     2448       82     13     IStotady to Friday     Montorvia Toriady La Puerte Hark Ave.     Pomona'Health Center     730 Naple Ave.     Los Angeles 90033     5     522     200     2448		3	8:50	Monday to Friday	Edward R. Roybal C.H.C.	245 S. Fetterly Ave.	Los Angeles 90022	5	52	260	248
107     5     10.05     Monday to Friday     Contral Juvenite Hall     1005 Eastake Ave, Hold and a superior of the su		4	9:20	Monday to Friday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731	5	52	260	248
B     6     0.20     Monday to Friday     LAC-USC Medical Center     130 N. State St.     Los Angeles 90033     5     5.2     240     248       B0     8     11.30     Monday to Friday     Pornona Health Center     760 S. Park Ave.     Pornona 10766     5     5.2     260     248       B1     13     Monday to Friday     United Health Center     760 S. Park Ave.     Pornona 10766     5     5.2     260     248       B1     13     Stood Morday to Friday     United Health Center     730 N. State St.     Los Angeles 90033     5     5.2     260     248       B1     14     153 Nonday to Friday     Monrovia Health Center     730 N. State St.     Los Angeles 90033     5     5.2     260     248       B1     14     1530     Monroday to Friday     Whitter Health Center     730 N. State St.     Los Angeles 90033     5     5.2     260     248       B1     14     1530     Monroday to Friday     McLarent Health Center     7200 N. State St.     Los Angeles 90033     5     52     260		5	10:05	Monday to Friday	Central Juvenile Hall	1605 Eastlake Ave.	Los Angeles 90033	5		260	248
BB     7     10.55     Monday to Friday     Monrovia Health Center     700 Star Ave.     Monrovia 191016     5     52     280     248       01     9     12.05     Monday to Friday     Whitter Health Center     770 S, Park Ave.     Pomona 91706     5     52     280     248       01     131     Monday to Friday     Uncervise Mealth Center     730 Maple Ave.     Monrovia 91016     5     52     280     248       03     11     3550     Monday to Friday     Monrovia Health Center     7300 Maple Ave.     Monrovia 91016     5     52     280     248       05     15     1000 Monday to Friday     LAC+USC Medical Center     7300 Senter Ave.     Pomona 91766     5     52     280     248       06     16     15     1000 Monday to Friday     LAC+USC Medical Center     7200 N. State St.     Los Angeles 90033     5     5     52     280     248       07     1     15     600 Monday to Friday     LAC+USC Medical Center     7200 N. State St.     Los Angeles 90033     5     52 <td></td> <td>6</td> <td>10:20</td> <td>Monday to Friday</td> <td>LAC+USC Medical Center</td> <td>1200 N. State St.</td> <td>Los Angeles 90033</td> <td>5</td> <td>52</td> <td>260</td> <td>248</td>		6	10:20	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	248
00.     8     11.30     Monday to Friday     Pomona Health Center     790.5. Park Ave.     Pomona 1766     5     52.2     260     248       02.     10     13.16     Monday to Friday     LAC+USC Medical Center     720.5. Park Ave.     Vinitier 90002     5     52.2     260     248       03.11     13.15     Monday to Friday     Pomona Health Center     730.5. Park Ave.     Pomona 1766     5     52.2     260     248       04.11     14.35.0     Monday to Friday     Pomona Health Center     730.5. Park Ave.     Pomona 1766     5     52.2     260     248       05.11     15.100     Monday to Friday     La Puente Hath     Friday     State St.     Los Angeles 90033     5     52.2     260     248       05     10.00     Monday to Friday     LAC+USC Medical Center     1200.N. State St.     Los Angeles 90033     5     52.2     260     248       070     1     11.15     Monday to Friday     MacLaren Hall     4024 N. Durle Pir31     1     52.2     260     248		7	10:55		Monrovia Health Center	330 Maple Ave.	Monrovia 91016	5	52	260	248
61     9     12:05     Monday to Friday     Whittier Health Center     7643 S. Painter Ave.     Whittier 90602     5     52     260     2448       63     11     13:50     Monday to Friday     Monoval Health Center     330 Maple Ave.     Monoval 91016     5     62     260     2448       64     12     14:24     14:24     14:24     46     52     260     2448       65     13     15:00     Monday to Friday     Pomone Health Center     15930 Central Ave.     La Puente 18744     5     62     260     2448       66     14     15:30     Monday to Friday     Whitter Health Center     7643 S. Painter Ave.     Un Nuter 90602     5     52     260     2448       67     15     16:00     Monday to Friday     LC-USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       70     1     11:16     Monday to Friday     McLareu Kadua     242 S. Grand Ave.     Los Angeles 9007     5     52     260     248		8	11:30	Monday to Friday	Pomona Health Center	750 S. Park Ave.	Pomona 91766	5	52	260	248
102     10     13:15     Monday to Friday     LAC-USC Medical Center     1200 N. State St.     Los Angeles 80033     5     52     260     2448       64     12     14:20     Monday to Friday     Pornona Health Center     750 S. Park Ave.     Pornona 91766     5     52     260     2448       65     13     15:00     Monday to Friday     La Puente Health Center     750 S. Park Ave.     Pornona 91766     5     52     260     2448       65     14     15:30     Monday to Friday     La Puente Health Center     763 S. Painter Ave.     Whitter 90602     5     52     260     248       67     15     16:00     Monday to Friday     LAC-USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       71     2     11:16     Monday to Friday     LAC-USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       72     11:16     Monday to Friday     Loc Augeles 90014     5     52     260     2448 <td></td> <td>9</td> <td>12:05</td> <td></td> <td>Whittier Health Center</td> <td>7643 S. Painter Ave.</td> <td>Whittier 90602</td> <td></td> <td></td> <td>260</td> <td>248</td>		9	12:05		Whittier Health Center	7643 S. Painter Ave.	Whittier 90602			260	248
B3     11     13:50     Monday to Friday     Monrovia Health Center     330 Maple Ave.     Monrovia 91016     5     52     260     248       B5     13     15:00     Monday to Friday     La Puente Health Center     769. Park Ave.     La Puente 91764     5     52     260     248       B5     15     16:00     Monday to Friday     Withiter 90602     5     52     260     248       B6     16     15:00     Monday to Friday     LAC-USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       B7     1     11:15     Monday to Friday     LAC-USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       T2     11:40     Monday to Friday     LAC-USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       T2     3     15:50     Monday to Friday     Edward R. Royha CH.C.     245 S. Frietry Ave.     Los Angeles 90003     5     52     260     248	62	10	13:15		LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	248
E4     12     14:20     Monday to Friday     Ponona Health Center     750 S. Park Ave.     La Puente Part Ave.     La Puente Part Ave.     La Puente Part Ave.     Ponona 19766     5     52     280     248       E5     13     15:00     Monday to Friday     Whittier Health Center     7643 S. Pantar Ave.     Whittier 90602     5     52     280     248       E7     15     16:30     Monday to Friday     LAC+USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     280     248       E3     11:15     Monday to Friday     LAC+USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     280     248       T7     2     11:16     Monday to Friday     LAC+USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     280     248       T3     11:30     Monday to Friday     Edward R. Roybal C.H.C.     245 S. Enterty Ave.     Los Angeles 90033     5     52     280     248       T3     11:30     Monday to Friday     Edward R. Roybal C.H.C. <td< td=""><td></td><td>11</td><td>13:50</td><td></td><td>Monrovia Health Center</td><td>330 Maple Ave.</td><td>•</td><td>5</td><td>52</td><td>260</td><td>248</td></td<>		11	13:50		Monrovia Health Center	330 Maple Ave.	•	5	52	260	248
65     13     15:00     Monday to Friday     La Puente Health Center     7633 C Fential Ave.     La Puente 91744     5     52     280     248       67     15     16:00     Monday to Friday     LAC-4USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     280     248       68     Priday     McLaren Hail     4024 N. Durfee Rd     El Monte 91731     1     52     220     248       70     1     11:15     Monday to Friday     LAC-4USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     280     248       71     1     13:00     Monday to Friday     LAC-4USC Medical Center     1200 N. State St.     Los Angeles 90014     5     52     280     248       72     13:15     Monday to Friday     Edward R. Roylad C.H.C.     242 St. 6H St.     Los Angeles 90033     5     52     280     248       74     5     12:05     Tuesday and Thurday needs to del to AC-4 Star Clinic     242 St. 6H St.     Los Angeles 90063     2     52     280     248		12	14:20	Monday to Friday	Pomona Health Center	750 S. Park Ave.	Pomona 91766	5		260	248
66     14     15:30     Monday to Friday     Whitter each Charler     7643 S. Painter Ave.     Whitter 90602     5     5.2     260     2448       71     15     16:00     Morday to Friday     McLaren Hall     4024 N. Durfee Rd     El Monte 91731     1     52     260     248       73     11:15     Monday to Friday     LAC+USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       71     2     11:40     Monday to Friday     H. Claude Hudson C.H.C.     2228 S. Grand Ave.     Los Angeles 90014     5     52     260     248       73     4     12:10     Monday to Friday     Edward R. Roybal C.H.C.     248 E. 6th St.     Los Angeles 90022     5     52     260     248       73     4     12:10     Monday to Friday     Edward R. Roybal C.H.C.     248 S. Etterly Ave.     Los Angeles 90033     5     52     260     248       74     5     12:35     Monday to Friday     Loc Angeles 90033     5     52     260     248  <		13	15:00	Monday to Friday	La Puente Health Center	15930 Central Ave.	La Puente 91744	5	52	260	248
15     15     16:00     Monday to Friday     LAC-USC Medical Center     1200 N State St.     Los Angeles 90033     5     5:22     260     248       16     16:30     Friday     McLaren Hall     4024 N. Durfee Rd     El Monte 91731     1     5:22     260     248       70     1     11:15     Monday to Friday     LAC+USC Medical Center     1200 N. State St.     Los Angeles 90007     5     52     260     248       71     21:140     Monday to Friday     Edward R. Roybal C.H.C.     242 E.61 B.St.     Los Angeles 90007     5     52     260     248       74     5     12:35     Truesday and Thursday needs to del to AC+USC Medical Center     133 N. Sunol Dr.     Los Angeles 90033     5     52     260     248       76     6     12:35     Truesday and Thursday needs to del to ALC+USC Medical Center     133 N. Sunol Dr.     Los Angeles 90033     5     52     260     248       77     8     13:30     Monday to Friday     El Monte ALC     1005 Ramona Bivd.     El Monte 91731     5     52     260		14	15:30		Whittier Health Center	7643 S. Painter Ave.	Whittier 90602	5	52	260	248
B8     16:30     Friday     McLaren Hall     4024 N. Durfee Rd     El Monte 91731     1     52     52     52       99     NORTHEAST CLUSTER ROUTE: Subroute 2     100     A696     4696       71     1     11:15     Monday to Friday     LAC+USC Medical Center     1200 N. State St.     Los Angeles 90033     5     522     260     248       72     11:30     Monday to Friday     H. Claude Hudson C.H.C.     2829     S Grand Ave.     Los Angeles 90014     5     522     260     248       73     4     12:10     Monday to Friday     Edward R. Roybal C.H.C.     245 E. fith St.     Los Angeles 90063     2     52     260     248       74     12:35     Monday to Friday     Edward R. Roybal C.H.C.     2495 S. State St.     Los Angeles 90033     5     522     260     248       76     12:55     Monday to Friday     El Monte 91731     5     522     260     248       77     8     13:30     Monday to Friday     H. Claude Hudson C.H.C.     2895 S. Grand Ave.     Los Angeles 90											
Boy     NORTHEAST CLUSTER ROUTE: Subroute 2     too     5.148     44895       70     1     11:15     Monday to Friday     LAC+USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       71     2     11:40     Monday to Friday needs to de to LAC+USC Medical Center     1280 N. State St.     Los Angeles 90013     5     52     260     248       73     412:10     Monday to Friday needs to de to LAC+USC Medical Center     123 N. Sunol Dr.     Los Angeles 90033     2     52     260     248       74     5     12:35     Monday to Friday     El Monte C-H.C.     10953 Ramona Bivd.     El Monte 91731     5     52     260     248       77     8     13:30     Monday to Friday     H. Claude Hudson C.H.C.     289 S. Grand Ave.     Los Angeles 90033     5     52     260     248       77     8     13:30     Monday to Friday     H. Claude Hudson C.H.C.     289 S. Grand Ave.     Los Angeles 90033     5     52     260     248       80     10     15:20						4024 N. Durfee Rd	•				52
770   1   11:15   Monday to Friday   LAC-USC Medical Center   1200 N. State St.   Los Angeles 90033   5   52   280   244     71   2   11:10   Monday to Friday   H. Claude Hudson C.H.C.   2829 S. Grand Ave.   Los Angeles 90017   5   52   280   248     72   3   11:50   Monday to Friday   Edward R. Roybal C.H.C.   242 E. 6th St.   Los Angeles 90012   5   52   280   248     73   5   12:55   Monday to Friday   Edward R. Roybal C.H.C.   249 S. Fetterly Ave.   Los Angeles 90033   5   52   280   248     74   5   12:55   Monday to Friday   ELAC-USC Medical Center   130 N. Sunol Dr.   Los Angeles 90033   5   52   280   248     78   13:30   Monday to Friday   LAC-USC Medical Center   1000 N. State St.   Los Angeles 90007   5   52   280   248     78   13:30   Monday to Friday   H. Claude Hudson C.H.C.   282 S. Grand Ave.   Los Angeles 90007   5   52   280   248     79   9   14:45 <td< td=""><td></td><td>N</td><td></td><td>,</td><td></td><td></td><td></td><td>100</td><td>-</td><td></td><td></td></td<>		N		,				100	-		
17:1     2     11:40     Monday to Friday     H. Claude Hudson C.H.C.     229 S. Grand Ave.     Los Angeles 90007     5     52     260     248       72     3     11:50     Monday to Friday needs to del to LAC+L Star Clinic     242 E. 6th St.     Los Angeles 90007     5     52     260     248       73     4     12:10     Monday to Friday needs to del to LAC+L Star Clinic     242 E. 6th St.     Los Angeles 90033     2     52     104     92       74     5     12:35     Monday to Friday     LAC+USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       76     7     13:15     Monday to Friday     H. Claude Hudson C.H.C.     2895 S. Grand Ave.     Los Angeles 90007     5     52     260     248       77     8     13:30     Monday to Friday     H. Claude Hudson C.H.C.     2895 S. Grand Ave.     Los Angeles 90012     5     52     260     248       78     14:45     Monday to Friday     Central Health Center     249 N. Durfee Rd.     El Monte 91731     5     <		1	11:15	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033		52		
72   3   11:50   Monday to Friday   Edward R. Roybal C.H.C.   242 E. 6th St.   Los Angeles 90014   5   52   260   248     73   4   12:10   Monday to Friday   Edward R. Roybal C.H.C.   242 E. 6th St.   Los Angeles 90022   5   52   260   248     75   6   12:55   Monday to Friday   Edward R. Roybal C.H.C.   1990 N. State St.   Los Angeles 90033   5   52   260   248     76   7   13:15   Monday to Friday   El Monte C.H.C.   19953 Ramona BVd.   El Monte 91731   5   52   260   248     77   8   13:30   Monday to Friday   H. Claude Hudson C.H.C.   19953 Ramona BVd.   El Monte 91731   5   52   260   248     80   10   15:20   Monday to Friday   H. Claude Hudson C.H.C.   2829 S. Grand Ave.   Los Angeles 90033   5   52   260   248     81   11   15:45   Monday to Friday   LAC+USC Medical Center   241 N. Eigurea St.   Los Angeles 90033   5   52   260   248     82   15   1		2	11:40		H. Claude Hudson C.H.C.	2829 S. Grand Ave.	•	5	52	260	248
73   4   12:10   Monday to Friday   Edward R. Roybal C.H.C.   245 S. Fetterly Ave.   Los Angeles 90022   5   52   260   248     74   5   12:35   Tuesday and Thursday needs to del to M East Los Angeles Health Center   120 N. State St.   Los Angeles 90033   5   52   260   248     76   6   12:55   Monday to Friday   El Monte C.H.C.   10953 Ramona Bhd.   El Monte 91731   5   52   260   248     78   9   14:45   Monday to Friday   H. Claude Hudson C.H.C.   2829 S. Grand Ave.   Los Angeles 90033   5   52   260   248     79   9   14:45   Monday to Friday   Central Health Center   210 N. State St.   Los Angeles 90033   5   52   260   248     80   10   15:45   Monday to Friday   Central Health Center   120 N. State St.   Los Angeles 90033   5   52   260   248     83   13   16:30   Tuesday and Thursday needs to del to N East Los Angeles Health Center   130 N. Sunol Dr.   Los Angeles 90033   5   52   260   248     84 <td></td> <td>3</td> <td>11:50</td> <td></td> <td>l Star Clinic</td> <td>242 E. 6th St.</td> <td>•</td> <td></td> <td></td> <td>260</td> <td>248</td>		3	11:50		l Star Clinic	242 E. 6th St.	•			260	248
74     5     12:35     Tuesday and Thursday needs to del to N East Los Angeles Health Center     133 N. Sunol Dr.     Los Angeles 90063     2     52     104     92       75     6     12:55     Monday to Friday     EI Monte C.H.C.     19953 Ramona Bivd.     EI Monte 91731     5     52     260     248       77     8     13:30     Monday to Friday     McLAREN HALL     4024 N. Durfee Rd.     EI Monte 91731     5     52     260     248       79     9     14:45     Monday to Friday     H. Claude Hudson C.H.C.     2829 S. Grand Ave.     Los Angeles 90007     5     52     260     248       80     10     15:20     Monday to Friday     Central Health Center     241 N. Figueroa St.     Los Angeles 90033     5     52     260     248       82     12     16:00     Monday to Friday     Central Juvenile Hail     1600 Eastlake Ave.     Los Angeles 90033     5     52     260     248       83     13     16:30     Tuesday and Thursday needs to del to N East Los Angeles Health Center     133 N. Sunol Dr.     Los Ange		4	12:10			245 S. Fetterly Ave.	•				248
75     6     12:55     Monday to Friday     LAC+USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       76     7     13:15     Monday to Friday     El Monte C.H.C.     10953 Ramona Bivd.     El Monte 91731     5     52     260     248       79     9     14:45     Monday to Friday     H. Claude Hudson C.H.C.     2829 S. Grand Ave.     Los Angeles 90007     5     52     260     248       80     10     15:20     Monday to Friday     Central Health Center     241 N. Figueroa St.     Los Angeles 90012     5     52     260     248       81     11     15:45     Monday to Friday     Central Health Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       82     12     16:00     Monday to Friday     LAC+USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       83     13     16:30     Monday to Friday     El Monte C.H.C.     245 S. Fetterly Ave.     Los Angeles 90023		5	12:35	Tuesday and Thursday needs to del to M	East Los Angeles Health Center	133 N. Sunol Dr.	Los Angeles 90063	2	52	104	92
77   8   13:30   Monday to Friday   McLAREN HALL   4024 N. Durfee Rd.   El Monte 91731   5   52   260   248     79   9   14:45   Monday to Friday   H. Claude Hudson C.H.C.   229 S. Grand Ave.   Los Angeles 90012   5   52   260   248     81   11   15:20   Monday to Friday   Central Health Center   241 N. Figueroa St.   Los Angeles 90033   5   52   260   248     81   11   15:45   Monday to Friday   Central Juvenile Hall   1600 Eastlake Ave.   Los Angeles 90033   5   52   260   248     82   12   16:00   Monday to Friday   EdVard R. Roybal C.H.C.   245 S. Fetterly Ave.   Los Angeles 90063   2   52   104   92     84   14   16:55   Monday to Friday   El Monte C.H.C.   1995 Ramona Blvd.   El Monte 91731   5   52   260   248     85   15   18:50   Monday to Friday   H. Claude Hudson C.H.C.   2829 S. Grand Ave.   Los Angeles 9007   5   52   260   248     86   16   18	75	6	12:55	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	248
77   8   13.30   Monday to Friday   McLAREN HALL   4024 N. Durfee Rd.   El Monte 91731   5   52   260   248     79   9   14.45   Monday to Friday   H. Claude Hudson C.H.C.   229 S. Grand Ave.   Los Angeles 90012   5   52   260   248     81   11   15.20   Monday to Friday   Central Health Center   241 N. Figueroa St.   Los Angeles 90033   5   52   260   248     81   11   15.45   Monday to Friday   Central Juvenile Hall   1600 Eastlake Ave.   Los Angeles 90033   5   52   260   248     82   12   16:00   Monday to Friday   Edward R. Roybal C.H.C.   245 S. Fetterly Ave.   Los Angeles 90063   2   52   104   92     84   14   16:55   Monday to Friday   Edward R. Roybal C.H.C.   245 S. Fetterly Ave.   Los Angeles 9007   5   52   260   248     85   15   18:50   Monday to Friday   El Monte C.H.C.   1995 S Amona Blvd.   El Monte 91731   5   52   260   248     86   16 <td< td=""><td>76</td><td>7</td><td>13:15</td><td>Monday to Friday</td><td>El Monte C.H.C.</td><td>10953 Ramona Blvd.</td><td>El Monte 91731</td><td>5</td><td>52</td><td>260</td><td>248</td></td<>	76	7	13:15	Monday to Friday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731	5	52	260	248
80     10     15:20     Monday to Friday     Central Health Center     241 N. Figueroa St.     Los Angeles 90012     5     52     260     248       81     11     15:45     Monday to Friday     Central Juvenile Hall     1000 Eastlake Ave.     Los Angeles 90033     5     52     260     248       82     12     16:00     Monday to Friday     LAC+USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       83     13     16:30     Tuesday and Thursday needs to del to N East Los Angeles Health Center     133 N. Sunol Dr.     Los Angeles 90063     2     52     260     248       84     14     16:55     Monday to Friday     El Monte C.H.C.     245 S. Fetterly Ave.     Los Angeles 90077     5     52     260     248       86     16     18:50     Monday to Friday     H. Claude Hudson C.H.C.     2829 S. Grand Ave.     Los Angeles 90077     5     52     260     248       87     17     19:15     Monday to Friday     H. Claude Hudson C.H.C.     2829 S. Grand Ave.		8	13:30	Monday to Friday	McLAREN HALL	4024 N. Durfee Rd.	El Monte 91731	5	52	260	248
81     11     15:45     Monday to Friday     Central Juvenile Hall     1600 Eastlake Ave.     Los Angeles 90033     5     52     260     248       82     12     16:00     Monday to Friday     LAC+USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       83     13     16:30     Tuesday and Thursday needs to del to N East Los Angeles Health Center     133 N. Sunol Dr.     Los Angeles 90063     2     52     260     248       84     14     16:55     Monday to Friday     Edward R. Roybal C.H.C.     245 S. Fetterly Ave.     Los Angeles 90022     5     52     260     248       85     15     18:20     Monday to Friday     El Monte C.H.C.     10953 Ramona Blvd.     El Monte 91731     5     52     260     248       86     16     18:50     Monday to Friday     H. Claude Hudson C.H.C.     2829 S. Grand Ave.     Los Angeles 90007     5     52     260     248       87     19     20:10     Monday to Friday     H. Claude Hudson C.H.C.     2829 S. Grand Ave. <t< td=""><td>79</td><td>9</td><td>14:45</td><td>Monday to Friday</td><td>H. Claude Hudson C.H.C.</td><td>2829 S. Grand Ave.</td><td>Los Angeles 90007</td><td>5</td><td>52</td><td>260</td><td>248</td></t<>	79	9	14:45	Monday to Friday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	5	52	260	248
82   12   16:00   Monday to Friday   LAC+USC Medical Center   1200 N. State St.   Los Angeles 90033   5   52   260   248     83   13   16:30   Tuesday and Thursday needs to del to N East Los Angeles Health Center   133 N. Sunol Dr.   Los Angeles 90063   2   52   104   92     84   14   16:55   Monday to Friday   Edward R. Roybal C.H.C.   245 S. Fetterly Ave.   Los Angeles 90022   5   52   260   248     85   15   18:20   Monday to Friday   El Monte C.H.C.   10953 Ramona Blvd.   El Monte 91731   5   52   260   248     86   16   18:50   Monday to Friday   LAC+USC Medical Center   1200 N. State St.   Los Angeles 9007   5   52   260   248     87   17   19:15   Monday to Friday   H. Claude Hudson C.H.C.   2829 S. Grand Ave.   Los Angeles 9007   5   52   260   248     88   18   19:45   Monday to Friday   H. Claude Hudson C.H.C.   2829 S. Grand Ave.   Los Angeles 9007   5   52   260   248     89	80	10	15:20	Monday to Friday	Central Health Center	241 N. Figueroa St.	Los Angeles 90012	5	52	260	248
83   13   16:30   Tuesday and Thursday needs to del to N East Los Angeles Health Center   133 N. Sunol Dr.   Los Angeles 90063   2   52   104   92     84   14   16:55   Monday to Friday   Edward R. Roybal C.H.C.   245 S. Fetterly Ave.   Los Angeles 90022   5   52   260   248     85   15   18:20   Monday to Friday   El Monte C.H.C.   10953 Ramona Blvd.   El Monte 91731   5   52   260   248     86   16   18:50   Monday to Friday   H. Claude Hudson C.H.C.   2829 S. Grand Ave.   Los Angeles 90007   5   52   260   248     87   17   19:15   Monday to Friday   H. Claude Hudson C.H.C.   2829 S. Grand Ave.   Los Angeles 90007   5   52   260   248     88   18   19:45   Monday to Friday   H. Claude Hudson C.H.C.   2829 S. Grand Ave.   Los Angeles 90007   5   52   260   248     89   19   20:10   Monday to Friday   Hubert H. Humphrey C.H.C.   5850 S. Main St.   Los Angeles 90003   5   52   260   248     91 </td <td>81</td> <td>11</td> <td>15:45</td> <td>Monday to Friday</td> <td>Central Juvenile Hall</td> <td>1600 Eastlake Ave.</td> <td>Los Angeles 90033</td> <td>5</td> <td>52</td> <td>260</td> <td>248</td>	81	11	15:45	Monday to Friday	Central Juvenile Hall	1600 Eastlake Ave.	Los Angeles 90033	5	52	260	248
84     14     16:55     Monday to Friday     Edward R. Roybal C.H.C.     245 S. Fetterly Ave.     Los Angeles 90022     5     52     260     248       85     15     18:20     Monday to Friday     El Monte C.H.C.     10953 Ramona Blvd.     El Monte 91731     5     52     260     248       86     16     18:50     Monday to Friday     H. Claude Hudson C.H.C.     2829 S. Grand Ave.     Los Angeles 90007     5     52     260     248       87     17     19:15     Monday to Friday     H. Claude Hudson C.H.C.     2829 S. Grand Ave.     Los Angeles 90033     5     52     260     248       88     18     19:45     Monday to Friday     H. Claude Hudson C.H.C.     2829 S. Grand Ave.     Los Angeles 90007     5     52     260     248       89     19     20:10     Monday to Friday     Hutbert H. Humphrey C.H.C.     5850 S. Main St.     Los Angeles 90059     5     52     260     248       90     20     20:30     Monday to Friday     Martin Luther King, Jr. M.A.C.C.     12021 S. Wilimington Ave.	82	12	16:00	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	248
84     14     16:55     Monday to Friday     Edward R. Roybal C.H.C.     245 S. Fetterly Ave.     Los Angeles 90022     5     52     260     248       85     15     18:20     Monday to Friday     El Monte C.H.C.     10953 Ramona Blvd.     El Monte 91731     5     52     260     248       86     16     18:50     Monday to Friday     H. Claude Hudson C.H.C.     2829 S. Grand Ave.     Los Angeles 90033     5     52     260     248       87     17     19:15     Monday to Friday     H. Claude Hudson C.H.C.     2829 S. Grand Ave.     Los Angeles 90033     5     52     260     248       88     18     19:45     Monday to Friday     H. Claude Hudson C.H.C.     2829 S. Grand Ave.     Los Angeles 90007     5     52     260     248       90     20     20:30     Monday to Friday     Hubert H. Humphrey C.H.C.     5850 S. Main St.     Los Angeles 90059     5     52     260     248       91     0     20:45     Monday to Friday     Martin Luther King, Jr. M.A.C.C.     12021 S. Wilmington Ave.	83	13	16:30	Tuesday and Thursday needs to del to M	East Los Angeles Health Center	133 N. Sunol Dr.	Los Angeles 90063	2	52	104	92
86     16     18:50     Monday to Friday     H. Claude Hudson C.H.C.     2829 S. Grand Ave.     Los Angeles 90007     5     52     260     248       87     17     19:15     Monday to Friday     LAC+USC Medical Center     1200 N. State St.     Los Angeles 90033     5     52     260     248       88     18     19:45     Monday to Friday     H. Claude Hudson C.H.C.     2829 S. Grand Ave.     Los Angeles 90007     5     52     260     248       89     19     20:10     Monday to Friday     Hubert H. Humphrey C.H.C.     5850 S. Main St.     Los Angeles 90003     5     52     260     248       90     20     20:30     Monday to Friday     Martin Luther King, Jr. M.A.C.C.     12021 S. Wilmington Ave.     Los Angeles 90059     5     52     260     248       91     0     20:45     Monday to Friday     Harbor-UCLA Medical Center     1000 W. Carson St.     Los angeles 9059     5     52     260     248       92     NORTHEAST/COASTAL CLUSTER ROUTE: Subroute 3     1000 W. Carson St.     Torrance 90509     5		14	16:55			245 S. Fetterly Ave.	Los Angeles 90022	5	52	260	248
87   17   19:15   Monday to Friday   LAC+USC Medical Center   1200 N. State St.   Los Angeles 90033   5   52   260   248     88   18   19:45   Monday to Friday   H. Claude Hudson C.H.C.   2829 S. Grand Ave.   Los Angeles 90007   5   52   260   248     89   19   20:10   Monday to Friday   Hubert H. Humphrey C.H.C.   5850 S. Main St.   Los Angeles 90003   5   52   260   248     90   20   20:30   Monday to Friday   Martin Luther King, Jr. M.A.C.C.   12021 S. Wilmington Ave.   Los Angeles 90059   5   52   260   248     91   0   20:45   Monday to Friday   Martin Luther King, Jr. M.A.C.C.   12021 S. Wilmington Ave.   Los Angeles 90059   5   52   260   248     92   NORTHEAST/COASTAL CLUSTER ROUTE: Subroute 3   Iono W. Carson St.   Los angeles Ca 90502   5   52   260   248     93   1   8:00   Monday to Friday   Harbor-UCLA Medical Center   1000 W. Carson St.   Torrance 90509   5   52   260   248     94   2	85	15	18:20	Monday to Friday	El Monte C.H.C.	10953 Ramona Blvd.	El Monte 91731			260	248
87   17   19:15   Monday to Friday   LAC+USC Medical Center   1200 N. State St.   Los Angeles 90033   5   52   260   248     88   18   19:45   Monday to Friday   H. Claude Hudson C.H.C.   2829 S. Grand Ave.   Los Angeles 90007   5   52   260   248     89   19   20:10   Monday to Friday   Hubert H. Humphrey C.H.C.   5850 S. Main St.   Los Angeles 90003   5   52   260   248     90   20   20:30   Monday to Friday   Martin Luther King, Jr. M.A.C.C.   12021 S. Wilmington Ave.   Los Angeles 90059   5   52   260   248     91   0   20:45   Monday to Friday   Martin Luther King, Jr. M.A.C.C.   12021 S. Wilmington Ave.   Los Angeles 90059   5   52   260   248     92   NORTHEAST/COASTAL CLUSTER ROUTE: Subroute 3   Intervert 1000 W. Carson St.   Los angeles Ca 90502   5   52   260   248     93   1   8:00   Monday to Friday   Harbor-UCLA Medical Center   1000 W. Carson St.   Torrance 90509   5   52   260   248     94   2	86	16	18:50	Monday to Friday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	5	52	260	248
89     19     20:10     Monday to Friday     Hubert H. Humphrey C.H.C.     5850 S. Main St.     Los Angeles 90003     5     52     260     248       90     20     20:30     Monday to Friday     Martin Luther King, Jr. M.A.C.C.     12021 S. Wilmington Ave.     Los Angeles 90059     5     52     260     248       91     0     20:45     Monday to Friday     Harbor-UCLA Medical Center     1000 W. Carson St.     Los angeles Ca 90502     5     52     260     248       92     NORTHEAST/COASTAL CLUSTER ROUTE: Subroute 3     1000 W. Carson St.     Torrance 90509     5     52     260     248       93     1     8:00     Monday to Friday     Harbor-UCLA Medical Center     1000 W. Carson St.     Torrance 90509     5     52     260     248       94     2     9:30     Monday to Friday     Harbor-UCLA Medical Center     1000 W. Carson St.     Los Angeles 90012     5     52     260     248       94     2     9:30     Monday to Friday     Public Health Lab     313 N. Figueroa St     Los Angeles 90012     5	87	17	19:15	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	248
90     20     20:30     Monday to Friday     Martin Luther King, Jr. M.A.C.C.     12021 S. Wilmington Ave.     Los Angeles 90059     5     52     260     248       91     0     20:45     Monday to Friday     Harbor-UCLA Medical Center     1000 W. Carson St.     Los angeles Ca 90502     5     52     260     248       92     NORTHEAST/COASTAL CLUSTER ROUTE: Subroute 3     100     W. Carson St.     Torrance 90509     5     52     260     248       93     1     8:00     Monday to Friday     Harbor-UCLA Medical Center     1000 W. Carson St.     Torrance 90509     5     52     260     248       94     2     9:30     Monday to Friday     Harbor-UCLA Medical Center     1000 W. Carson St.     Torrance 90509     5     52     260     248       94     2     9:30     Monday to Friday     Public Health Lab     313 N. Figueroa St     Los Angeles 90012     5     52     260     248       95     0     11:45     Monday to Friday     Hollywood/Wilshire Health Center     5205 Melrose Ave.     Hollywood 90038	88	18	19:45	Monday to Friday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	5	52	260	248
90     20     20:30     Monday to Friday     Martin Luther King, Jr. M.A.C.C.     12021 S. Wilmington Ave.     Los Angeles 90059     5     52     260     248       91     0     20:45     Monday to Friday     Harbor-UCLA Medical Center     1000 W. Carson St.     Los angeles Ca 90502     5     52     260     248       92     NORTHEAST/COASTAL CLUSTER ROUTE: Subroute 3     1000 W. Carson St.     Torrance 90509     5     52     260     248       93     1     8:00     Monday to Friday     Harbor-UCLA Medical Center     1000 W. Carson St.     Torrance 90509     5     52     260     248       94     2     9:30     Monday to Friday     Harbor-UCLA Medical Center     1000 W. Carson St.     Torrance 90509     5     52     260     248       94     2     9:30     Monday to Friday     Public Health Lab     313 N. Figueroa St     Los Angeles 90012     5     52     0     0     0       95     0     11:45     Monday to Friday     Hollywood/Wilshire Health Center     5205 Melrose Ave.     Hollywood 90038	89	19	20:10	Monday to Friday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	5	52	260	248
92     NORTHEAST/COASTAL CLUSTER ROUTE: Subroute 3     100     1,560     1,488       93     1     8:00     Monday to Friday     Harbor-UCLA Medical Center     1000 W. Carson St.     Torrance 90509     5     52     260     248       94     2     9:30     Monday to Friday     Public Health Lab     313 N. Figueroa St     Los Angeles 90012     5     52     0     0       95     0     11:45     Monday to Friday     Hollywood/Wilshire Health Center     5205 Melrose Ave.     Hollywood 90038     5     52     260     248       96     3     9:30     Monday to Friday     LONG BEACH H.C.     1333 CHESTNUT AVE.     LONG BEACH 90813     5     52     260     248       97     4     9:55     Monday to Friday     THE CLUB 1350     510 W. ANAHEIM ST     WILMINTONG CA. 90744     0     52     0     0	90	20	20:30		Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	5	52	260	248
93     1     8:00     Monday to Friday     Harbor-UCLA Medical Center     1000 W. Carson St.     Torrance 90509     5     52     260     248       94     2     9:30     Monday to Friday     Public Health Lab     313 N. Figueroa St     Los Angeles 90012     5     52     0     0       95     0     11:45     Monday to Friday     Hollywood/Wilshire Health Center     5205 Melrose Ave.     Hollywood 90038     5     52     260     248       96     3     9:30     Monday to Friday     LONG BEACH H.C.     1333 CHESTNUT AVE.     LONG BEACH 90813     5     52     260     248       97     4     9:55     Monday to Friday     THE CLUB 1350     510 W. ANAHEIM ST     WILMINTONG CA. 90744     0     52     0     0	91	0	20:45	Mondaya to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Los angeles Ca 90502	5	52	260	248
94     2     9:30     Monday to Friday     Public Health Lab     313 N. Figueroa St     Los Angeles 90012     5     52     0     0       95     0     11:45     Monday to Friday     Hollywood/Wilshire Health Center     5205 Melrose Ave.     Hollywood 90038     5     52     260     248       96     3     9:30     Monday to Friday     LONG BEACH H.C.     1333 CHESTNUT AVE.     LONG BEACH 90813     5     52     260     248       97     4     9:55     Monday to Friday     THE CLUB 1350     510 W. ANAHEIM ST     WILMINTONG CA. 90744     0     52     0     0     0	92	N	ORTHE	AST/COASTAL CLUSTER ROUTE: Sub	route 3			100		1,560	1,488
95     0     11:45     Monday to Friday     Hollywood/Wilshire Health Center     5205 Melrose Ave.     Hollywood 90038     5     52     260     248       96     3     9:30     Monday to Friday     LONG BEACH H.C.     1333 CHESTNUT AVE.     LONG BEACH 90813     5     52     260     248       97     4     9:55     Monday to Friday     THE CLUB 1350     510 W. ANAHEIM ST     WILMINTONG CA. 90744     0     52     0     0	93	1	8:00	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	5		260	248
96     3     9:30     Monday to Friday     LONG BEACH H.C.     1333 CHESTNUT AVE.     LONG BEACH 90813     5     52     260     248       97     4     9:55     Monday to Friday     THE CLUB 1350     510 W. ANAHEIM ST     WILMINTONG CA. 90744     0     52     0     0	94	2	9:30	Monday to Friday	Public Health Lab	313 N. Figueroa St	Los Angeles 90012	5			0
97 4 9:55 Monday to Friday THE CLUB 1350 510 W. ANAHEIM ST WILMINTONG CA. 90744 0 52 0 0	95	0	11:45	Monday to Friday	Hollywood/Wilshire Health Center	5205 Melrose Ave.	Hollywood 90038	5	52	260	248
		3	9:30	Monday to Friday	LONG BEACH H.C.	1333 CHESTNUT AVE.	LONG BEACH 90813			260	248
98 5 10:15 Monday to Friday Harbor-UCLA Medical Center 1000 W. CARSON ST. CARSON CA. 90502 5 52 260 248	97	4	9:55	Monday to Friday	THE CLUB 1350	510 W. ANAHEIM ST	WILMINTONG CA. 90744	0	52	0	0
	98	5	10:15	Monday to Friday	Harbor-UCLA Medical Center	1000 W. CARSON ST.	CARSON CA. 90502	5	52	260	248

	в	С	D	F	F	G	К	L	М	Ν
99	6	10:50	Monday to Friday	-	210 W. TEMPLE ST.	LOS ANGELES 90012	5	52	0	0
100	7	11:10	Monday to Friday		1400 S. GRAND AVE.	LOS ANGELES 90015	5	52	0	<u>0</u>
101	8	11:25	Monday to Friday		600 S. COMMONWEALTH AVE		5	52	0	<u> </u>
102	9	11:45	Monday to Friday		5220 W. WASHINGTON BLVD		5	52	0	0
102	10	12:00	Monday to Friday		3743 S. LA BREA AVE	LOS ANGELES 90016	5	52	0	<u> </u>
104	11	12:00	Monday to Friday		3834 S. WESTERN AVE	LOS ANGELES 90062	5	52	0	0
105	12	13:10	Monday to Friday		2146 W. ADAMS BLVD	LOS ANGELES 90018	5	52	0	0
106	13	13:30	Monday to Friday		10300 COMPTON AVE.	LOS ANGELES 90002	5	52	0	0
107	14	13:50	Monday to Friday	MLK OASIS 1	1807 E. 120TH ST.	LOS ANGELES 90059	5	52	0	0
108	15	14:25	Monday to Friday		1043 ELM AVE. 3FL #302	LONG BEACH 90813	5	52	0	0
109	16	14:30	Monday to Friday	ST. MARY'S CARE CLINIC	1043 ELM AVE. 3FL #300	LONG BEACH 90813	5	52	0	0
110	17	14:45	Monday to Friday		2525 S. GRAND AVE #115	LONG BEACH 90813	5	52	0	0
111	18	15:30	Monday to Friday	PUBLIC HEALTH LAB	12750 ERICKSON AVE	DOWNEY CA. 90242	5	52	0	0
112	0	12:25	Monday to Friday		241 N. Figueroa St.	Los Angeles 90012	5	52	260	248
113	0	13:30	Monday to Friday		1200 N. State St.	Los Angeles 90033	5	52	260	248
110	Ŭ	10.00	Monady to Finady			2007 «Igoloo 00000	Ū			Annual Stop Number
	NO. 1	ГІМЕ	DAYS	FACILITIES	STREET ADDRESS	CITY & ZIP	<b>D</b>		Annual	Deducting Holidays and
114							Days per Week	Weeks per Year	Stop Number*	Number of Pick-Ups
115	9	SOUTHW	EST CLUSTER ROUTE				70		3,640	3,472
116	1	10:00	Monday to Friday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	5	52	260	248
117	2	10:30	Monday to Friday	Curtis Tucker Health Center	123 W. Manchester Blvd.	Inglewood 90301	5	52	260	248
118	3		Monday to Friday		1000 W. Carson St.	Los angeles Ca 90502	5	52	260	248
119	4	11:40	Monday to Friday		1108 N. Oleander St.	Compton 90221	5	52	260	248
120	5	11:45	Monday to Friday	Martin Luther King, Jr. Center for Publi		Los Angeles 90002	5	52	260	248
121	6	12:10	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	1720 E. 120th St.	Los Angeles 90059	5	52	260	248
122	7	13:30	Monday to Friday	-	5850 S. Main St.	Los Angeles 90003	5	52	260	248
123	8	14:30	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Inglewood 90301	5	52	260	248
124	9	15:00	Monday to Friday	Curtis Tucker Health Center	123 W. Manchester Blvd.	Inglewood 90301	5	52	260	248
125	0	16:30	Monday to Friday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	5	52	260	248
126	10	15:55	Monday to Friday	MLK CENTER CLINIC	11833 S. WILMINGTON AVE	LOS ANGELES 90222	5	52	260	248
127	11	17:00	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	1720 E. 120th St.	Los Angeles 90059	5	52	260	248
128	12	16:45	Monday to Friday	HUMPHREY COMP	5850 S. MAIN ST.	LOS ANGELES 90003	5	52	260	248
129	13	17:30	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Los Angeles Ca 90502	5	52	260	248
130	(	COASTA	L CLUSTER ROUTE				70		3,640	3,472
131	1	10:30	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	5	52	260	248
132	2	11:00	Monday to Friday	Torrance Health Center	711 Del Amo Blvd.	Torrance 90502	5	52	260	248
133	3	11:30	Monday to Friday	Bellflower Health Center	10005 E. Flower St.	Bellflower 90706	5	52	260	248
134	4	12:15	Monday to Friday	Long Beach C.H.C.	1333 Chestnut Ave.	Long Beach 90813	5	52	260	248
135	5	12:30	Monday to Friday	Wilmington Health Center	1326 Broad Ave.	Wilmington 90744	5	52	260	248
136	6	13:00	Monday to Friday	Family H.C.	1403 W. Lomita Ave.	Harbor City 90710	5	52	260	248
137	7	13:30	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	5	52	260	248
138	8	14:30	Monday to Friday		711 Del Amo Blvd.	Torrance 90502	5	52	260	248
139	9	15:00	Monday to Friday	Gardena High School Health Clinic	1301 W. 182nd St., Rm W1	Gardena 90248	5	52	260	248
140	10	16:15	Monday to Friday		10005 E. Flower St.	Bellflower 90706	5	52	260	248
141	11	17:00	Monday to Friday	5	1333 Chestnut Ave.	Long Beach 90813	5	52	260	248
142	12	17:30	Monday to Friday	5	1326 Broad Ave.	Wilmington 90744	5	52	260	248
143	13	18:10	Monday to Friday	5	1403 W. Lomita Ave.	Harbor City 90710	5	52	260	248
144	14	18:30	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	5	52	260	248

	В	С	D	E	F	G	К	L	М	Ν
									Annual	Annual Stop Number
	<u>NO.</u>	TIME	DAYS	FACILITIES	STREET ADDRESS	<u>CITY &amp; ZIP</u>	Days per	Weeks per	Stop	Deducting Holidays and
145							Week	Year	Number*	Number of Pick-Ups
146 147				LACING Madiaal Cantan	1000 NL Chata Ct		85	50	3,900	3,720
147	1 2	7:15	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52 52	260 260	248 248
_		8:10	Monday to Friday	Barry J. Nidorf Juvenile Hall	16350 Filbert St.	Sylmar 91342	5		260	
149 150		8:30 10:00	Monday to Friday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	5	52 52	260	248 248
150	4 5	10:00	Monday to Friday Monday to Friday	Rancho Los Amigos N.R.C. Los Padrinos Juvenile Hall	7601 E. Imperial Hwy. 7285 Quill Drive	Downey 90242 Downey 90242	5	52	260	248
151	5 4	10.15	Monday to Friday	Public Health Lab	12750 Erickson Ave.	Downey 90242 Downey 90242	5	52	260	0
152	5	11:05	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	5	52	260	248
154	6	12:05	Monday to Friday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	5	52	260	248
155	-	12:25	Monday to Friday	Hubert H. Humphrey C.H.C.	5850 S. Main St.	Los Angeles 90003	5	52	260	248
156	8	12:55	Monday to Friday	Central Juvenile Hall	1605 Eastlake Ave.	Los Angeles 90033	5	52	260	248
157	9	13:05	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	248
158	10	13:50	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	5	52	260	248
159		14:25	Monday to Friday	Martin Luther King	1720 EAST 120TH ST.	Los Angeles 90222	5	52	260	248
160		14:35	Monday to Friday	MLK Center Clinic	11833 W. Wilmington Ave., R-16	•	5	52	260	248
161	14	14:45	Monday to Friday	Rancho Los Amigos N.R.C.	7601 E. Imperial Hwy.	Downey 90242	5	52	260	248
162	15	15:00	Monday to Friday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	5	52	0	0
163	16	15:45	Monday to Friday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	5	52	260	248
164		HOSPITA	L/PUBLIC HEALTH ROUTE (Saturdays	5)			8		416	416
165	1	9:00	Saturday	Olive View-UCLA Medical Center	14445 Olive View Dr.	Sylmar 91342	1	52	52	
167	2	9:45	Saturday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	1	52	52	
168	3	10:20	Saturday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	1	52	52	
169	4	12:00	Saturday	Long Beach C.H.C.	1333 Chestnut Ave.	Long Beach 90813	1	52	52	
170	5	12:50	Saturday	Harbor-UCLA Medical Center	1000 W. Carson St.	Torrance 90509	1	52	52	
171	6	13:30	Saturday	H. Claude Hudson C.H.C.	2829 S. Grand Ave.	Los Angeles 90007	1	52	52	
172		14:00	Saturday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	1	52	52	
173		15:30	Saturday	Harbor-UCLA Medical Center	1000 W. CARSON ST	Torrance 90509	1	52	52	
174			AL/PUBLIC HEALTH ROUTE (Holidays)				24		24	24
175	1	8:25	Holiday	Martin Luther King, Jr. M.A.C.C.	12021 S. Wilmington Ave.	Los Angeles 90059	12		12	
176		10:10	Holiday	LAC+USC Medical Center	1200 N. State St.	Los Angeles 90033	12		12	
177	3	10:30	Holiday	Public Health Lab - Downey	12750 Erickson Ave.	Downey 90242	0		0	Annual Stop Number
	<u>NO.</u>	ТІМЕ	DAYS	FACILITIES	STREET ADDRESS	CITY & ZIP	Days per	Weeks per	Annual Stop	Deducting Holidays and
178							Week	Year	Number*	Number of Pick-Ups
179	REGL	JLAR CO	MP CENTER AND JAIL ROUTE				86		4,472	4,216
180	0	7:00	Monday to Friday	Twin Towers I & II	450 Bauchet St.	Los Angeles, 90012	5	52	260	248
181	0	9:00	Monday to Friday	MLK Lab	1720 E. 120th St.	Los Angeles, 90059	5	52	260	248
182	1	11:00	Monday to Friday	LA PUENTE H.C.	15953 E. RAMONA BLVD	LA PUENTE CA. 91731	5	52	260	248
183	2	11:25	Monday to Friday	El Monte Health Center	10953 E. Ramona Blvd. R-134 L	a El Monte, 91731	5	52	260	248
184	3	11:55	Monday to Friday	Roybal CHC	245 S. Fetterly Ave.	Los Angeles, 90022	5	52	260	248
185	4	12:00	Thursday	KIRBY JUVENILE HALL	1500 S. MCDONELL AVE.	COMMERCE CA. 90040	1	52	52	248
186	5	12:15	Monday to Friday	EAST L.A. HEALTH CENTER	133 N. SUNOL DR.	LOS ANGELES CA. 90063	5	52	260	248
187	6	12:30	Monday to Friday	Central J.H.	1600 EASTLAKE AVE	LOS ANGELES CA.90033	5	52	260	248
188		12:45	Monday to Friday	Twin Towers I & II	450 Bauchet St.	Los Angeles, 90012	5	52	260	248
189		13:05	Monday to Friday	H. Claude Hudson CHC	2809 S. Grand Ave.	Los Angeles, 90007	5	52	260	248
190 191		14:05	Monday to Friday		1000 WEST CARSON ST.	LOS ANGELES CA.90502	5 5	52 52	260	248 248
191	10	14:30	Monday to Friday	MLK Lab	1720 E. 120th St.	Los Angeles, 90059	5	52	260	248

	В	С	D	E	F	G	К	L	М	Ν
192	11	15:00	Monday to Friday	PUBLIC HEALTH	12750 ERICKSON AVE.	DOWNEY CA.90242	5	52	260	248
193	0	14:30	Monday to Friday	Twin Towers I & II	450 Bauchet St.	Los Angeles, 90012	5	52	260	248
194	0	15:00	Monday to Friday	MLK Lab	1720 E. 120th St.	Los Angeles, 90059	5	52	260	248
195	0	19:00	Monday to Friday	Twin Towers I & II	450 Bauchet St.	Los Angeles, 90012	5	52	260	248
196	0	19:45	Monday to Friday	Lynwood-CRDF	11705 S. Alameda St.	Los Angeles, 90262	5	52	260	248
197	0	21:00	Monday to Friday	MLK Lab	1720 E. 120th St.	Los Angeles, 90059	5	52	260	248
198	NORT	H COUN	TY ROUTE (SPECIAL DRIVER-HIGHER	RATE)					0	0
199	1	18:45	Monday to Friday	Castaic-North County Correctional	29340 The Old Road	Castaic, 91349				
200	2	21:00	Monday to Friday	MLK Lab	1720 E. 120th St.	Los Angeles, 90059				
201	SATU	RDAY OF	ILY ROUTE-TWIN TOWERS				2		104	104
202	3	19:00	Saturday	Twin Towers I & II	450 Bauchet St.	Los Angeles, 90012	1	52	52	52
203	4	20:00	Saturday	MLK Lab	1720 E. 120th St.	Los Angeles, CA 90059	1	52	52	52
204	Sunda	y Only D	elivery Route (Special Driver-Higher F	Rate)			2		104	104
205	1	20:00	Sunday	Twin Towers I & II	450 Bauchet St.	Los Angeles, 90012	1	52	52	52
206	2	21:30	Sunday	MLK Lab	1720 E. 120th St.	Los Angeles, 90059	1	52	52	52
207	HUMP	HREY 1	]				10		520	496
208	1	21:30	Monday to Friday	Humphrey Comp Health Center	5850 S. Main St., Lab	Los Angeles 90033	5	52	260	248
209	2	22:00	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Los Angeles Ca 90502	5	52	260	248
210			ROUTE 5				2		780	744
211	1	8:25 AM	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Los Angeles Ca 90502	5	52	260	248
212	2	9:30 AM	Monday to Friday	Long Beach C.H.C.	1333 Chestnut Ave.	Long Beach 90813	5	52	260	248
213	3	10:15 AM	Monday to Friday	Harbor-UCLA Medical Center	1000 W. Carson St.	Los Angeles Ca 90502	5	52	260	248
214										
215 216						Total Estimated Annual Num	ber of Stops:			32,351
216						Monthly				2,696
217										
218										
219										
220										
221	Estima	tes only.	Routine Route Schedule. The number	of pick up/delivery stops may vary from	n year to year including any addit	ions/deletions to the number of s	stops.			